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Question Number : 1 Question Id : 1908891642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

-

The number of significant figures in the physical quantity 2.56 x 10° kg is.

1. 1
2
3 3
4, 5
Options:

1908896501. 1
1908896502. 2
1908896503. 3

1908896504. 4

Question Number : 1 Question Id : 1908891642 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

256 x 10° kg F Hifas aftamor 1 ards gt &1 7179 ¢

1. 1
2. 2
3 3
4. 5
Options:
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1908896501. 1
1908896502. 2
1908896503. 3

1908896504. 4

Question Number : 2 Question Id : 1908891643 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The position - time graph of an object 1s shown below

X (m)

0 4

oo -
—_—
o)
-
e
o
—t

Which one of the statements given below 1s wrong about the motion .

1. Between 0 to 4 s the object 1s accelerating

2. Between 4 s to 8 s the object 1s at rest

3. Between 8 s to 12 s the object 1s decelerating
4. Between 4 s to 8 s the object’s acceleration =0

Options :

1908896505. 1
1908896506. 2
1908896507. 3
1908896508. 4

Question Number : 2 Question Id : 1908891643 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908896505. 1
1908896506. 2
1908896507. 3

1908896508. 4

Question Number : 3 Question Id : 1908891644 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TTE'G vectors are E_’II[T\-"EH.
A=3%kand B = -3j .

The vector product of the two vectors 1s

1. 61
T ol
3. 6]
4. - 6k
Options:
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19088965009. 1
1908896510. 2
1908896511. 3

1908896512. 4

Question Number : 3 Question Id : 1908891644 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ar miger uferar &§r g &
A-2k 3T B - -3j

s ar |fgyr R #1 ueEwa §

M
2. -6z
3. 6
4. -6k
Options :

1908896509. 1
1908896510. 2
1908896511. 3
1908896512. 4

Question Number : 4 Question Id : 1908891645 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A body 15 mitially at rest. It undergoes one dimensional motion with constant acceleration. The
power delivered to it at time t 1s proportional to

A e
—_
[
[
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Options :

1908896513. 1
1908896514. 2
1908896515. 3
1908896516. 4

Question Number : 4 Question Id : 1908891645 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

15 s ey & uvenwr # ) g o % 9y 3w vs & 0w e AT
gt 8. §AY t ¥ Y Yeod 9fd T TR 8

b
—

[ = N
—

Options:

1908896513. 1
1908896514. 2
1908896515. 3

1908896516. 4

Question Number : 5 Question Id : 1908891646 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A block of mass M 1s connected to a spring of spring constant K. It oscillates on the friction less
melined surface as shown in the fig. The time period of oscillation 1s

M ,
4, T=2r |—sinf
\J"‘

Options:

1908896517. 1
1908896518. 2
1908896519. 3
1908896520. 4

Question Number : 5 Question Id : 1908891646 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908896517. 1
1908896518. 2
1908896519. 3
1908896520. 4

Question Number : 6 Question Id : 1908891647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A cricket ball is thrown at a speed of 30 m/s in a direction 30° above the horizontal. What 1s its
. . # 1'\
maximum height? (g=10m/s")

225m
I5m
11.25m
10m

[ N

Options:

1908896521. 1
1908896522. 2
1908896523. 3

1908896524. 4

Question Number : 6 Question Id : 1908891647 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FE PR AT TR AR T o AT T I g a
ﬁﬁﬂﬁm'ﬁﬁﬁﬁ?ﬂ'a?(g=mmf}

225m
15m
11.25m
10 m

B e L

Options:

1908896521. 1
1908896522. 2
1908896523. 3

1908896524. 4

Question Number : 7 Question Id : 1908891648 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A body of mass 5 kg 1s on a smooth horizontal surface. It 1s acted upon by two perpendicular
forces 8 N and 6 N. which are parallel to the surface. The magnitude and diection of the
acceleration of the body is,

lm &-: at an angle of tan'l{ 4/3) with the direction of 8 N force.

2 m/s”, at an angle of tan™ (3/4) with the direction of 8 N force.

20 m/s”, at an angle of Tﬂll_jf 3/4) with the direction of 8 N foree.

20 m/s", at an angle of tan™ (4 3) with the direction of 8 N force.

B o R

[ )

Options:

1908896525. 1
1908896526. 2
1908896527. 3

1908896528. 4

Question Number : 7 Question Id : 1908891648 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

5kg FeAAE 1 #1 fvg fFat #ifoF T8 W E 30 W FFEd T SN 6
N o 1l € S {56 F FAW £l ot {705 F w=or &1 afamr #y 3gh faen
g

1. §SNTo #i ﬁ;?ﬂ Py tan'l{i 3)% HIT Wlm 5
2. SNTT H M F tan'(34) F FIOT W2 ms?
3. SNTA Fr e & tml'l(i.-"ﬁﬂ & HIT I 20 m/s
4, SN T QM F tan’ (4/3) F FIT W20 /s’

Options:

1908896525. 1
1908896526. 2
1908896527. 3
1908896528. 4

Question Number : 8 Question Id : 1908891649 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

Which one amongst the physical quantity listed below has the same dimension as energy?

toque

angular momentum
moment of mertia
acceleration due to gravity

| R

e b

Options:

1908896529. 1
1908896530. 2
1908896531. 3

1908896532. 4

Question Number : 8 Question Id : 1908891649 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g s A A FERr AT s F AT T & ¢

1. & HTEOT

2. HIOT Faar

3. AT HTEOT

4. TTAHYUT F HROT G101
Options:

1908896529. 1
1908896530. 2
1908896531. 3

1908896532. 4

Question Number : 9 Question Id : 1908891650 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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What 15 the moment of inertia of a ring about a tangent to the cirele of the ring? [M = mass,
R =radws]

=]

[ e
=
=

L

o
o s MW o) =

Options:

1908896533. 1
1908896534. 2
1908896535. 3
1908896536. 4

Question Number : 9 Question Id : 1908891650 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frel o & grd T T W@ W FEE HU 77 ¢ 7 (FeFAW = M: e = R

]

i
5

(=]

>
e,

=
G

(3]

wafra | MW pa)
e |

=
—
=

Options :

1908896533. 1
1908896534. 2
1908896535. 3
1908896536. 4
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Question Number : 10 Question Id : 1908891651 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The escape speed of a projectile on the earth's surface 1s nearly 11 km/s. A body 1s projected out
from earth with twice this speed. What is the speed of the body far away from earth? Ignore the
presence of the sun and other planets.

. 200 km's
. V250 km's
. 300 km's
. 363 km's

[—

e L] [

Options:

1908896537. 1
1908896538. 2
1908896539. 3

1908896540. 4

Question Number : 10 Question Id : 1908891651 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

qedft $1 Fag W R qarsunes 1 e A I 1 ks 81 R Ros A
TR A T T A e T g AR g R Hraf s g o g3

R 3=7 78 &1 iRy @ am 78 e
5. 200 kmls
6. 250 kms
7. 300 km's
8. 363 kms
Options:

1908896537. 1
1908896538. 2
1908896539. 3

1908896540. 4
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Question Number : 11 Question Id : 1908891652 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In HCI molecule 'the separation between the nuclii of the two atoms 1s 1.27 A. The chlorine atom
is 35.5 times as massive as hydrogen atom, and nearly all mass of an atom 15 concentrated in its
nucleus. Find the approximate location of center of mass of the molecule on the line joining H
and C1 nuclu from the H end,

10A
124
125A
0.9A

| ]

Options:

1908896541. 1
1908896542. 2
1908896543. 3

1908896544. 4

Question Number : 11 Question Id : 1908891652 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FESIFAINE U & 2 WA & F5%F F AT F (UFH0T 127 A §| FalA
QTATY] FTEEISI TTATY] F FeTAW F135.5 71 § 3T WA & 0 qft geuad
HIA $egs & Tiied § A 75319 $1 6 T FEsad AT FaLA & Fegd &
WIS T T A F A F 55 9 HqAed afeafd 7 Hifaw :

LOA
1.2A
1.25A
09A

e fad B

Options:

1908896541. 1
1908896542. 2
1908896543. 3
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1908896544. 4

Question Number : 12 Question Id : 1908891653 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A point mass 1s moving with velocity. V in +x direction. V 15 given by the equation n [ m/s]
T 1 )

V=>5t+10t°

where t 1s 1n second. The acceleration of the point mass att=2s1s

. Zero

10 m/s
12 m/s
. 45m/s

ra a2 a2

e el e =

Options:

1908896545. 1
1908896546. 2
1908896547. 3

1908896548. 4

Question Number : 12 Question Id : 1908891653 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
F 9 geuaAre = feor & vaw § gaifeg & @ &1 VH THERI0T [w]

V=5t +10¢°

# fowioe fopar o & el + @308 # 21 =2 W f9g SR F o §

I
L9
10m/s

12m/s
45 m/s”

- (=] (=]

B e L

Options:
1908896545. 1
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1908896546. 2
1908896547. 3
1908896548. 4

Question Number : 13 Question Id : 1908891654 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 6 kg block rests on the floor has another block of mass 2 kg sitting over it (see figure). The

2 kg block 1s held at rest by connecting to the wall using a cord. What 15 the force needed to pull
o . . - 7 e e

out 6 kg block with an acceleration of 1.5 m/s™? The coefficient of friction between the two

blocks and 6 kg block and floor1s 0.4 (2= 10 m )

2kg

6kg — > F

3N
AN
40N
52N

e e e =

Options:

1908896549. 1
1908896550. 2
1908896551. 3
1908896552. 4

Question Number : 13 Question Id : 1908891654 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T W o 390 & W 70 6ke F R WOE F FW Lke T F FI5 g5
vz 7@ 23 31 (R &) 2k F1 @os dan ¥ wer el Tl F wen e
@I A 15w’ F 0 F 6k F TS H a Tiad F 0 FFae a9 i
HIGITRAT TEM 2 R oA T ENOT JOF 0.4 (g=10m/s) &l

2kg

33N
41N
49N
52N

R R

Options:

1908896549. 1
1908896550. 2
1908896551. 3

1908896552. 4

Question Number : 14 Question Id : 1908891655 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. . . . . . . o,
An incompressible liquid flows through a pipe of radius 4 em. The flow rate is 3.14 x 107 m'/s.
What 15 the approximate average velocity of the fluid?

2ms
4ms
5m's
61m's

[
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Options :

1908896553. 1
1908896554. 2
1908896555. 3
1908896556. 4

Question Number : 14 Question Id : 1908891655 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

#Hﬁﬁ?ﬂﬁﬁicmﬁﬂ*qﬁqﬁmmﬁmﬁlWET.%.H}:IO'EHES?
o &3 & AT 0T 3T FAE 2

2m's
4m/s
5m/s
6 m's

e d b

Options :

1908896553. 1
1908896554. 2
1908896555. 3

1908896556. 4

Question Number : 15 Question Id : 1908891656 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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; i i y ; 2 , ,
A vertical wire 5 m long and 8 x 10~ em? cross sectional area has Young's modulus = 200 GPa.
Find the extension in its length, when a 2 kg object is fastened to its free end (see figure).

i
(g=10m/s")

5m

2kg

0.625 mm
0.65 mm
0.672 mm
0.72 mm

e L o =

Options:

1908896557. 1
1908896558. 2
1908896559. 3

1908896560. 4

Question Number : 15 Question Id : 1908891656 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
FIF 5m e A8 x 107em U TS STHA Tell FEARR AR foF@aHT 1 AT 200

GPag @ 0+ Ta-7 O ¥ 2ke Toi I el v 7t anwy H gon F (R
a'@')(g=10111 sijl'lTﬁ old-ﬂlé F TR A fifav

5m

2kg

0.625 mm
0.65 mm
0.672 mm
0.72 mm

o —

:I‘a.EJ.-

Options:
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1908896557. 1
1908896558. 2
1908896559. 3

1908896560. 4

Question Number : 16 Question Id : 1908891657 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An open - top tank. filled upto a height of 5 m. has a hole at the bottom. What will be the
: ) i 1
velocity of water coming out of the hole? (g =10 m/s")

am

el

100 mv's
50 m's
10m/s
3 m's

[ A R R

Options:

1908896561. 1
1908896562. 2
1908896563. 3

1908896564. 4

Question Number : 16 Question Id : 1908891657 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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%ﬁqmﬁm@?ﬂaﬁ#ﬁnﬁmﬁmmmglmw
aﬁrﬁiﬁ‘dﬁlﬁ%ﬂwWwwam?(gﬂoml}

100 nv's
50 m/'s
10 m/s
8 m/s

I
2

ke

Options:

1908896561. 1
1908896562. 2
1908896563. 3

1908896564. 4

Question Number : 17 Question Id : 1908891658 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the translational kinetic energy of one mole of any monatomic ideal gas at 27° C?
(R=8.3 Jmole K)

37351
3361

1245]
830017

o

o e

Options:

1908896565. 1
1908896566. 2
1908896567. 3

1908896568. 4
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Question Number : 17 Question Id : 1908891658 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

27° C ¥ Ty v qrnas 3edt W & wF A & wEaRa afas Fer #&4r
giair 2

(R=8.3 J/mole K)

37353
33617

12457
R300J

ot bt

e

Options:

1908896565. 1
1908896566. 2
1908896567. 3
1908896568. 4

Question Number : 18 Question Id : 1908891659 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a certain process 33.5 kT 1s furnished to the system while the system does 6 kJ of work. What
15 the change in the internal energy of the system?

39.5kI
33.5kI
27.5kJ
6 kI

e faa b

Options:

1908896569. 1
1908896570. 2
1908896571. 3

1908896572. 4

Question Number : 18 Question Id : 1908891659 Question Type : MCQ Option Shuffling : No Is
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

et 9w & gomel (Rwed) & 3350 989 FF I § F9TF Rrew 71 79 A 6
KIE A e §1 muahs a1 # g aieas U

1. 39.5k]
2. 335K

Options:

1908896569. 1
1908896570. 2
1908896571. 3

1908896572. 4

Question Number : 19 Question Id : 1908891660 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6 kg of hydrogen gas at S.T.P. expands isobarically two twice its volume, What 1s the final
temperature of the gas?

500K
546K
600K
646 K

| R

s

Options:

1908896573. 1
1908896574. 2
1908896575. 3

1908896576. 4

Question Number : 19 Question Id : 1908891660 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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AAF A9FHE W 6 kg TEF AW A9 HTAS F 3T I FAGE § G § A 5@
i 1 Hew aEE g

500K
56K
3. 600K
4. 646K

b bt

Options:

1908896573. 1
1908896574. 2
1908896575. 3
1908896576. 4

Question Number : 20 Question Id : 1908891661 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 2.0 g bullet (specific heat of the metal of the bullet 400 T kg K 3 moving at 160 m's huts a
wall. What 1s the temperature change of the bullet if all its kinetic energy converts to heat energy
of the bullet?

1. 40°C
2. 32C
3. 16°C
4. 8°C
Options :

1908896577. 1
1908896578. 2
1908896579. 3

1908896580. 4

Question Number : 20 Question Id : 1908891661 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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FE 20 ¢ JoE (T HT U1g HT RS FA400T kg 'K §) S 160m's F AT &
et R @ T € O S TEET AT FA F TET FoA # IRafad g A
M & ToE F A9FER # g oRaae g o

40°C
32°C
16°C
8°C

b —

Options:

1908896577. 1
1908896578. 2
1908896579. 3

1908896580. 4

Question Number : 21 Question Id : 1908891662 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two metal plates of area 80 cm’ and thickness 3 mm are soldered together (see figure) . The left
plate's face 1s kept at 100° C and right plate's face 15 kept at 0°C. The thermal conductivity of the
left plate 1s 48 WK and that for the right plate 1s 68 W 'K

What 1s the approximate temperature of the soldered junction ?

210
320G
41°C
ikl

o =

e K

Options:
1908896581. 1

1908896582. 2
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1908896583. 3

1908896584. 4

Question Number : 21 Question Id : 1908891662 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

80c1112&'>|'=~|ﬁﬁ?inmlmmﬁﬂmmﬁﬁmmmmg
(R 2@) 910 wole &7 Ges 100°C T @ I § 3R 20 ST 7 For 0°C T 1@
T §| 91 Soie Y ST AqrerhdT (Tagaradn) 48 W 'K § Fafh g woe #r ardy
g 68 Wi 'K § & T AN AT WY FT HeAG ATwA FE

21°C
32°C
41°C
01°C

B e

Options:

1908896581. 1
1908896582. 2
1908896583. 3

1908896584. 4

Question Number : 22 Question Id : 1908891663 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A string 180 cm long resonates i three segments to transverse waves sent thorugh it by a 270 Hz
vibrator. What 1s the speed of the waves on the string?

162 m/s
324 mls
364 m/'s
374 m's

S N R S

Options:

1908896585. 1
1908896586. 2
1908896587. 3

1908896588. 4

Question Number : 22 Question Id : 1908891663 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FIS 180 o oTFET To ] IE[AET AN # i Tt A AT @1 270 Hz F F9
st S § o o, T e # A FAE 0

162 m/s
324 m/s
364 m/'s
374 m/s

|

[ S ]

Options:

1908896585. 1
1908896586. 2
1908896587. 3
1908896588. 4

Question Number : 23 Question Id : 1908891664 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The repulsive force on two equal charges which are separated i vacuum by a distance of 1 km 15
9 kN, The charges on cach 1s :

2C
1€
09C
03C

Fd

ol

Options :

1908896589. 1
1908896590. 2
1908896591. 3
1908896592. 4

Question Number : 23 Question Id : 1908891664 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

& TAE FEY S R e # Lk F gl § 79 £ W e a@molNg &
Tl FT FET ¢

2L
1C
09C
03C

b —

e L

Options:

1908896589. 1
1908896590. 2
1908896591. 3

1908896592. 4

Question Number : 24 Question Id : 1908891665 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Two large metal plates are connected to a 120 V supply (see figure). What is the magnitude of
force expentenced by an electron placed between the plates (see figure). Assume that the plates

. 19
are in vacuum. (e =-1.6x 107°C)

Zcm

)

1. -096x 10N
2. -48x10%N
3. 06x10°N
4. -96x 10N
Options:

1908896593. 1
1908896594. 2
1908896595. 3

1908896596. 4

Question Number : 24 Question Id : 1908891665 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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a1 98 erfeash Tole 120 V &1 3R @ 3 € (R &W) o et coled & @ o
ST W USHaTel 9ol & qRAr F71 § 2 (R &)

A Afow & e Aaa A & e=-16x10"0)

2cm

e

0.96x 105N
48x 107N
96x10°N
96x 106N

N N R R

Options :

1908896593. 1
1908896594. 2
1908896595. 3

1908896596. 4

Question Number : 25 Question Id : 1908891666 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A metal sphere mounted on an msulating rod carries a charge of 6uC, when its potential is 200V
higher than the surroundings. What 1s the capacitance of the capacitor formed by the sphere and
its surroundings?

| e

3
4,

3pF
30 pF

. 300 pF

3000 pF

Options:

1908896597. 1

1908896598. 2

1908896599. 3

1908896600. 4

Question Number : 25 Question Id : 1908891666 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fordlt WTet TF W 36 U Afcash 7ol A 6uC F7 G FaME a1 el § 51
o fawg & O & foorg 1 o & 200V 3 §1 3 amen AR 3w &
Zanr e wufm & gufmr 7 £ 0

| S

3pF
30 pF

3. 300 pF
4.

3000 pF

Options:

1908896597. 1

1908896598. 2

1908896599. 3

1908896600. 4

Question Number : 26 Question Id : 1908891667 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A metal rod 1s 2 m long and 8 mm 1n diameter. What 15 1ts resistance if the resistivity of the
= -
metal1s 1.76x 107 Qm

7x10°Q
7x10°Q
7x107Q
7x107Q

e o g =

Options:

1908896601. 1
1908896602. 2
1908896603. 3
1908896604. 4

Question Number : 26 Question Id : 1908891667 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frdr org & o5 # o5 2 m HR SEF W S mm §| G o Fr gl
176x10°Qmg & gfery 7T ¢ 0

7x107Q
7x10°Q
7x10°Q
7x10°Q

R

Options :

1908896601. 1
1908896602. 2
1908896603. 3
1908896604. 4

Question Number : 27 Question Id : 1908891668 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A dry cell has an emf of 1.5 V. Its terminal potential drops to zero when a current of 25 A passes
through it. What 1s its mternal resistance?

0.01Q
0.04 Q
0.06 2
0.07Q

e e

Options:

1908896605. 1
1908896606. 2
1908896607. 3

1908896608. 4

Question Number : 27 Question Id : 1908891668 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Frell o 8 FT emf 1.5V §1 38 How T 38 g7 # 9o 77 & o §
T TAE 25 A FT U TaET Bl ] THH HEWANT I 2

0.01Q
0.04 Q
3. 0.06Q
4. 0.07Q

b -

Options:

1908896605. 1
1908896606. 2
1908896607. 3

1908896608. 4

Question Number : 28 Question Id : 1908891669 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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An electric heater of resistance 8 Q draws 15 A current when connected to mamns. At what rate 1s
the heat developed?

12kW
1.5 kW
3. 1.6kW
4. 18kW

b —

Options:

19088966009. 1
1908896610. 2
1908896611. 3
1908896612. 4

Question Number : 28 Question Id : 1908891669 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

8 Q ufeiy Jrer F1E FafFes gex qeT TRy ¥ J57 W 15 A foggy awr #
feveprerar & o Thw &7 @ 3vAT 3o @ § 0

12 kW
1.5kW
1.6 kW
1.8 kW

e s e =

Options:

19088966009. 1
1908896610. 2
1908896611. 3

1908896612. 4

Question Number : 29 Question Id : 1908891670 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A particle of charge q enters a region where an electric field £ =80 kV/m directed as shown in fig.

Perpendicular to £ and directed info the page is a magnetic field B = 0.4 T. The particle is moving with
velocity » towards right.(see figure). If the particle is not deflected, what 1s the value of ; ?

E=80kV/m

-4

X X_X
Qoo U

8§x 10" m/s
4x 10? m's
3x10° m/s
2x10° m/s

Options:

1908896613. 1
1908896614. 2
1908896615. 3

1908896616. 4

Question Number : 29 Question Id : 1908891670 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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HIY o FT FIS FU1 37 T # F{awe g § el [oegd &7 £ =80 kV/m oA
#X R &1 ¢ & daad ¢ 3R 7 # AR TP 87 5 =04 T8 Foro A
Tefiemdaoma ¢ (R @) s suw Rev adi garg Ao FAF & -

E=80kV/m

b4
-
b 4
-~

8§ x 10? m's
4x 10? m's
3x10° m/s
2% 10° m/s

[N S S R

Options:

1908896613. 1
1908896614. 2
1908896615. 3

1908896616. 4

Question Number : 30 Question Id : 1908891671 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A loop of N turns of wire carries a current I and its plane s perpendicular to a uniform magnetic
field B (see figure), what 15 torque on the loop?

X XEtx X

X X

X x B

X

1. Zero

2. NIz RB

3. NI’z RB

4 N7 RB
Options:

1908896617. 1
1908896618. 2
1908896619. 3

1908896620. 4

Question Number : 30 Question Id : 1908891671 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Page - 37


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

frel R & NgAE F o1 A O 15 g § 3R SHR g AR P
87 B & oFaad ¢ (99 &9). o amer &7 el 3ot 7 § 0

X xlx x

VG

NIz R'B
3. NI 7R’B
4. N’ 7R'B

[ ] [e—

Options:

1908896617. 1
1908896618. 2
1908896619. 3
1908896620. 4

Question Number : 31 Question Id : 1908891672 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The wire shown in the figure carries a current of 40 A. What 1s the manitude of the magnetic
ficld at point P? Radius of the loop =2 em. np=4 » x 10" Tw/A,

0.74 mT
0.94mT
1.24 mT
144 mT

L
3.
4,

Options :

1908896621. 1
1908896622. 2
1908896623. 3
1908896624. 4

Question Number : 31 Question Id : 1908891672 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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R # T 910 AR & 40 AHT U7 YaIfEd & W & A fig P graehiT &7 H
qfAToT T & o 9rer i S = 2emiwg=4 - x 107 Tmw/A R

0.74 mT
0.94mT
1.24 mT
1.44 mT

1.
2,

[ S ]

Options:

1908896621. 1
1908896622. 2
1908896623. 3

1908896624. 4

Question Number : 32 Question Id : 1908891673 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. . . 3 L . -~ .
A solenoid 15 40 cm long. has cross sectional area 8 cm” and is wound with 300 turns of wire that
carry a current of 1.2 A, What 1s the magnitude of the magnetic field, B for an intertor pomt if
the solenoid's iron core has relative permeability 600.

1. 0.68T
2. 08T
10T
127

Options:
1908896625. 1
1908896626. 2

1908896627. 3
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1908896628. 4

Question Number : 32 Question Id : 1908891673 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FIE TR 40 cm F4T & mmwﬁsﬁ?aﬂ'{wmﬁmowﬂ
g § O 12A $t orr yarfge & @ & aF Al faeg W Rggdr s B#
i 7 & 3 aftenfeosr & o ¥ #i5 & anfEs TRewEar 600 #

0.68T
0.8T
1.0T
1.2T

N s

Options:

1908896625. 1
1908896626. 2
1908896627. 3

1908896628. 4

Question Number : 33 Question Id : 1908891674 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

When the current in a certain coil 1s changing at a rate of 3 A/s it 1s found that an emf of 7mV is
induced in a nearby coil. What 1s the mutual mductance of the combination.

0.33 mH
1.66 mH
2.00 mH
2.33mH

e o bl

Options:

1908896629. 1
1908896630. 2
1908896631. 3

1908896632. 4
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Question Number : 33 Question Id : 1908891674 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ Rl A AR Ry fede R i A Faw &
;ﬁ?‘?l'ﬁ'?m\"ﬁ emf‘;ﬁ_rfm?mgdﬂ T INEINEF WF &HaT Faar ¢

0.33 mH
1.66 mH
2.00 mH
2.33mH

b —

]

Options:

1908896629. 1
1908896630. 2
1908896631. 3
1908896632. 4

Question Number : 34 Question Id : 1908891675 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A capacitor 1s in series with a resistor of 30 Q and 1s connected to a 220V ac line. The reactance
of this capacitor 15 30 Q. What 1s the phase angle between the current and the supply voltage?

30°
45°
60°
90°

o =

e

Options:

1908896633. 1
1908896634. 2
1908896635. 3
1908896636. 4

Question Number : 34 Question Id : 1908891675 Question Type : MCQ Option Shuffling : No Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FI5 FURT 30 Q Sfores i g@er & § 3T 220 VY=l 9 § 37 21 g
1 HATRAT30Q | 9N AR AeT WS F 49 FF F A0 FAE 0

1. -30°
2. A45°
3. -60°
4, 90°
Options:
1908896633. 1
1908896634. 2
1908896635. 3

1908896636. 4

Question Number : 35 Question Id : 1908891676 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What 1s the resonant frequency of a cireuit of negligible resistance containing an inductance of
90 mH and capacitance 1600 pF?

416
1. — kHz
T
52.5
kHz

n
616
3} T kHz
[

716
4. — kHz
m

Options:

1908896637. 1
1908896638. 2
1908896639. 3
1908896640. 4

Question Number : 35 Question Id : 1908891676 Question Type : MCQ Option Shuffling : No Is
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
o7 9y fre# I &A1 90 mH AT FUINET 1600 pF €. 1 3ffedr 3mdfed &

416

1. — kHz
T
525 ”

&

(R

Options:

1908896637. 1
1908896638. 2
1908896639. 3
1908896640. 4

Question Number : 36 Question Id : 1908891677 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Remote switches of TV sets. video recorders and Hi-fi systems use

1. UV rays

2. X -rays

3. py-rays

4. infrared waves
Options:
1908896641. 1
1908896642. 2
1908896643. 3

1908896644. 4

Question Number : 36 Question Id : 1908891677 Question Type : MCQ Option Shuffling : No Is
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Clfeee we. ffA R i - R e s me F Taw A v e £

1. JUETEr RRTOT
3. -
4, ¥ T

[ ]

Options :

1908896641. 1
1908896642. 2
1908896643. 3

1908896644. 4

Question Number : 37 Question Id : 1908891678 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[

-

permeabilty 1s nearly equal to the free space permeability, p Its permutrivity e 15 (e, is free

The velocity of electromagnetic waves in a material medium 1s

(e=3x 108 m/s). Its

space prmitrivity )
V2 e .

1
- Sy

15%;
3ic,

ol ol b S

Options:

1908896645. 1
1908896646. 2
1908896647. 3

1908896648. 4

Question Number : 37 Question Id : 1908891678 Question Type : MCQ Option Shuffling : No Is

Page - 45


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

et verd & Arw ¥ faggd T a'i?ﬁq:raw% € (c=3x10°ms). 5

IRAFTAT {Fd &1 RIS FA § al 3§ [aegadiedl = §

(«, 7 &7 faggaehoa ¢)

b e
i 0

-

._'ED
15¢,

3

| I

s

Options:

1908896645. 1
1908896646. 2
1908896647. 3

1908896648. 4

Question Number : 38 Question Id : 1908891679 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Suppose the electric field part of an electromagnetic wave 1 vacuum 1s
E = E, coslky + wt)i

What 1s 1ts direction of propogation?

1. -k

T

4. j
Options:

1908896649. 1
1908896650. 2
1908896651. 3
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1908896652. 4

Question Number : 38 Question Id : 1908891679 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A AT & e & R fege e a1 & Regdw sT F aw
E = E, coslky + wt)

af 58 YER $T ar Far gl o

L] [ -] [o—
—

b
—

Options:

1908896649. 1
1908896650. 2
1908896651. 3

1908896652. 4

Question Number : 39 Question Id : 1908891680 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A circular coil of radius 10 em. 100 turns 15 placed with 1ts plane perpendiculars to the horizontal
component of earth's magnetic field (= 3.0 x 107 T). It 15 rotated about its vertical diameter
through 180° in 0.314 s. What is the magnitude of emf induced in the coil?

3Ix107%V
6x10°V
6x 107V
6x10°V

[

o

Options :
1908896653. 1
1908896654. 2
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1908896655. 3

1908896656. 4

Question Number : 39 Question Id : 1908891680 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

afe IUcmﬁIFCITEﬁ'W}?ﬁfw lﬂlogﬂ'ﬁ{m)ﬁmm*m
T F TR 8T (=3.0x 107 T)F &S 9eF F Tad @AW §LTF 03145
ﬁlSUDWmmm¢w3ﬂTqﬁFmngﬁgﬁﬁemf?l'
qRATOT FT § 2

3x10%V
6x10°V
6x 107V
6x10°V

[ Ty w—

e L

Options:

1908896653. 1
1908896654. 2
1908896655. 3

1908896656. 4

Question Number : 40 Question Id : 1908891681 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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In a meter bridge (fig. below). the balance point is found to be at 40 cm from the end A. when
resistance Y 15 12.0 Q.

The resistance X 15 .

X0 ¥=12.00

’—WW——‘

Balance point

— ' B

Im

4Q
8Q
10Q
14Q

[

LB

Options:

1908896657. 1
1908896658. 2
1908896659. 3

1908896660. 4

Question Number : 40 Question Id : 1908891681 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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W& AR & O (A & foar mn ) & aqee fg A B & 40 e OIT 7T § 5@
TR Y 120 QF o X & 9feRI £

xQ ¥=12.00

’—JW\,—‘

Balance point
1

1m

4Q
8Q
10Q
14Q

[

e

Options:

1908896657. 1
1908896658. 2
1908896659. 3
1908896660. 4

Question Number : 41 Question Id : 1908891682 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Page - 50


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

An object 1s located 30 em 1n front of a convex spherical murror of radius 40 ecm. Where 1s the
mnage formed

30 em

60 em
—60 cm
12cm
-12 cm

b =

= b

Options :

1908896661. 1
1908896662. 2
1908896663. 3

1908896664. 4

Question Number : 41 Question Id : 1908891682 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

aﬂéﬁ?ﬁﬂﬁﬁﬂmmmﬁﬂﬂMcm%*WEOcmﬁ@W
gl r ufdfsra &gl s g 2

30cm

60 cm
—60cm
12 cm
-12cm

B p

Options :
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1908896661. 1
1908896662. 2
1908896663. 3

1908896664. 4

Question Number : 42 Question Id : 1908891683 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A small luminous body. at the bottom of a pool of liquid of refractive index = +/3 , 2 m deep,
enufs light in all direction. What 15 the radius of circular area of light formed at the surface?

l. 1m
12m

[ ]

f
1,"2 m

oW

Vo m

Options:

1908896665. 1
1908896666. 2
1908896667. 3

1908896668. 4

Question Number : 42 Question Id : 1908891683 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Page - 52


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

fordll StemerT & e A F18 oY gdrea [z s wedh gEeE (3 .2 W T
IR wq el foamsit & weer #1 3w B § Al I8 W 3o Y &
gateoT &1 T e Far § 2

lm
12m

|'_
V2 m

= L] | e

J3m
Options:
1908896665. 1
1908896666. 2
1908896667. 3

1908896668. 4

Question Number : 43 Question Id : 1908891684 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A near sighted person cannot see distinetly objects beyond 80 cm from the eye. what 1s the
power in diopters of the spectacle lenses which will enable him to see distant objects clearly?

1. -2
2. <15
3. -1.25
4. -1
Options:

1908896669. 1

1908896670. 2
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1908896671. 3

1908896672. 4

Question Number : 43 Question Id : 1908891684 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

F15 e e 2w arer 93T 80 em ¥ HOF T Hr S F T - T &@
THAT §| TEF TT F FGAA oF & Fha TR g age Gww F ag o
151 F 6 - TF T T -

b
| ]

| S
L

e o
1 1 n 1
[ R =

Options :

1908896669. 1
1908896670. 2
1908896671. 3

1908896672. 4

Question Number : 44 Question Id : 1908891685 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Assume that light coming from distant stars have wavelength = 600 nm. What 1s the limit of
resolution of a telescope whose objective has a diameter of 300 ¢m?

1.22x 107 rad
2.44% 107 rad
3x107 1‘3;1

0.33x 10" rad

[ S R

Options:

1908896673. 1
1908896674. 2
1908896675. 3
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1908896676. 4

Question Number : 44 Question Id : 1908891685 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT ST & T AN F AT T F AEEEd = 600 mE A 37 ZTE
(EHERIT ) FT TS Far g 50+ AT+ F7 ¥ 300em g ?

1.22x10” rad
244x107 rad
3x10" 1ad

0.33x 107 rad

e I

Options:

1908896673. 1
1908896674. 2
1908896675. 3

1908896676. 4

Question Number : 45 Question Id : 1908891686 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A parr of stars has angular separation of 1'(one minute of arc) from earth. Its viewed with a
telescope whose objective has focal length of 100 cm and eyepiece a focal length of 1 em. The
stars will appear with angular separation of

1.67°
1.87°
1.99°
241°

Fod

e

Options:

1908896677. 1
1908896678. 2
1908896679. 3
1908896680. 4
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Question Number : 45 Question Id : 1908891686 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
et ar1 77w F 131 1 0% Bee) F g & vl quw g 3 3
eforeiT & &@ o1 § foree #f¥eeds # BiFa gl 100 cm AR AH T Bl
g Lem g1 UH g # AN Frw Fviw queRo # fows &

1.67°
1.87°
3 1.99°
4. 241°

b bt

Options:

1908896677. 1
1908896678. 2
1908896679. 3

1908896680. 4

Question Number : 46 Question Id : 1908891687 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The work function of sodium 1s 2.3 V. What 1s the loncesr wavelength light thet can cause
photoelectron emission from sodium? (h=6.63 x 107 . 5)

600 nm
540 nim
500 nm
460 nm

e o

Options :

1908896681. 1
1908896682. 2
1908896683. 3
1908896684. 4
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Question Number : 46 Question Id : 1908891687 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TIETH 1 F ol 2.3 eV &1 T FT FII0F TS F7 260 s Fror
TETA T Ber Soiaie F1 3c0ad & Fhal & 2

(h=6.63x10775)

600 nm
540 nm
500 nm
460 nm

N e L

Options :

1908896681. 1
1908896682. 2
1908896683. 3

1908896684. 4

Question Number : 47 Question Id : 1908891688 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What 1s the de Broglie wavelength of an electron that has been accelerated through a potential
difference of 0.9 kV?

. 4x 10'11 m
ix 10'11 m
C4x10Mm
4x 10"‘] m

T o I

Options:

1908896685. 1
1908896686. 2
1908896687. 3

1908896688. 4

Question Number : 47 Question Id : 1908891688 Question Type : MCQ Option Shuffling : No Is
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fordlt 0 goiwela R 00kV ¥ fawa 3 & gEwr cafa fear T g 3w & dien
T FE

C4x10Mm
ix 10'11 m
. 4x IO'm m
C4x10°m

b

e Lo

Options:

1908896685. 1
1908896686. 2
1908896687. 3

1908896688. 4

Question Number : 48 Question Id : 1908891689 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What 15 the energy of the photon that 1s emitted when the electron in hydrogen atom falls from
n =3 state to the n =2 state?

2.36eV
25eV
J. 1.1eV
4. 0.6V

b

Options:

1908896689. 1
1908896690. 2
1908896691. 3

1908896692. 4

Question Number : 48 Question Id : 1908891689 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Page - 58


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

79 e FTEsIe A 7 $oegie 0= 5 3FEA Fo=2 HIEq & Far & &
3cHTed BIEd 1 S 47 § 0

236V
2.56V
3 1 eV
4. 0.6eV

| R =

Options:

1908896689. 1
1908896690. 2
1908896691. 3
1908896692. 4

Question Number : 49 Question Id : 1908891690 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. . 3 e ) .
The radioactive sample has 2.5 x 10% atoms. Its half life is 5 x 10's. How many atoms decay in

157

3.5x% 10"
3.5% 10"
3.5% 10°
3.0x 10"

e Tl D —

Options:

1908896693. 1
1908896694. 2
1908896695. 3
1908896696. 4

Question Number : 49 Question Id : 1908891690 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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e IRt Sfaed #2.5x 10 WA §| T HE AET F 5x105F A 1s
# fFae oA F7 H9ET BT § 0

3.5x 10"
3.5x10%
3.5x10°
3.0x 10"

o Lad b

Options:

1908896693. 1
1908896694. 2
1908896695. 3

1908896696. 4

Question Number : 50 Question Id : 1908891691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The dopant that can be used to produce semiconductor 1s

Phosphorous
Aluminium
Boron
Indium

b

e

Options:

1908896697. 1
1908896698. 2
1908896699. 3

1908896700. 4

Question Number : 50 Question Id : 1908891691 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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ACF T ToTHFT TINT 92 - IoF 3c9+d Fid F o0 Far Ja1 &

%

4. EETH
Options:
1908896697. 1
1908896698. 2
1908896699. 3

1908896700. 4

Part B Chemistry

SectionId: 19088946
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 19088972
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 1908891692 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match polymer with their uses

List I List IT

.l)ﬂl}'ll'lf‘l‘ Uses

A PVC I. Manufacture of fibres

B. Bakelite II. Manufacture of water pipes

'C. Urea-formaldehyde resin ITI. Making electrical switches
D. Nylon-6 IV. Making unbreakable cups

Choose the correct options given below:

1. A-IMILB-II,C-LD-1IV

2. A-II,B-UOIL,C-IV.D-1I

3. A-ILB-IOI.C-LD-1IV

4. A-IV.B-III.C-II.D-1I
Options:

1908896701. 1
1908896702. 2
1908896703. 3
1908896704. 4

Question Number : 51 Question Id : 1908891692 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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qgm*ﬂ#jﬂ*mﬁﬂ@ﬁﬂﬁﬁm:

g -1 T -11

TgeH 3TN

A.PVC LYot % fador &

B. dFdTSC 1. 9= ¥ o=t ¥ Ao &

c. gfar - wffesges o (L fege et & Ao &
D. ATEA - 6 V. J Z&o aTer F9r % AT #

A fer o W@ fAwew # oA

A-III.B-II,C-1LD-IV
A-IILB-OILC-IV.D-1I
A-IILB-INIL.C-ILD-IV
A-IV.B-III.C-II.D-I

b

b

Options:

1908896701. 1
1908896702. 2
1908896703. 3
1908896704. 4

Question Number : 52 Question Id : 1908891693 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following artificial sugar has lowest sweetness value?

1. Saccharin
2. Aspartame
Alitame
Sucrose

B

Options :

1908896705. 1
1908896706. 2
1908896707. 3

Page - 63


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

1908896708. 4

Question Number : 52 Question Id : 1908891693 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fFrafo@a RE 96 & frges Jangd 719 737398 § °

[ ]

UTATEH
oferes
4. GHT

=

Eaa

Options :

1908896705. 1
1908896706. 2
1908896707. 3
1908896708. 4

Question Number : 53 Question Id : 1908891694 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Heating benzaldehyde with concentrated potassium hydroxide leads to the formation of:

Benzyl alcohol and benzoic acid
Benzyl aleohol and sodium benzoate
Benzalacetophenone and benzoic acid
Benzalacetophenone only

| R =

Fa L

Options:

19088967009. 1
1908896710. 2
1908896711.3

1908896712. 4
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Question Number : 53 Question Id : 1908891694 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

IroToISgTSs FI Wig NeRIR FESEFEES F WY T ¥ FF w7 A g ¢

fa—

. 37T Tohigd HR daAEH HFT
. 3T towEa 3R TR I=ATe
3. FeAAUTR bl 3T d=AEH e
4, FIT T AT

Options :

[ ]

1908896709. 1
1908896710. 2
1908896711. 3
1908896712. 4

Question Number : 54 Question Id : 1908891695 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The compound which 1s most reactive towards nucleophilic addition reaction 1s:

1
L. \\i f';r'}_ 9 —H
O

\ /) —G~CH;

0O
RO
0
5. HiC-C-H
O

| ]

L]

Options:

1908896713. 1
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1908896714. 2
1908896715. 3
1908896716. 4

Question Number : 54 Question Id : 1908891695 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e S F SfSF=E gFaa FEtEar F v gey 3fos e £ 0

O

i 0

A
KUY

0

H,C-C—-H

o)

[a—

| -

L)

2

Options:

1908896713. 1
1908896714. 2
1908896715. 3

1908896716. 4

Question Number : 55 Question Id : 1908891696 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The following conversion can be carried out in the presence of:

@CHECN - QCH 2CHO

CH;COCI + AIC;

H, + Pd-BaS0;

SnCl, + HC1 followed by hydrolysis
CrO,Cl followed by hydrolysis

LI Sy

el

Options :

1908896717. 1
1908896718. 2
1908896719. 3

1908896720. 4

Question Number : 55 Question Id : 1908891696 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ST oo e T A T ST g £ 0

: T
@cmcm - { )—CHyCHO

CH3;COCl + AlCl3
H; + Pd-BaS0Oq4

SnCl, + HC1 38k d¢ Jd H9deoA

L R

4. CrOClh 3T+ I Fd ¥

Options:

1908896717. 1
1908896718. 2
1908896719. 3
1908896720. 4
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Question Number : 56 Question Id : 1908891697 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following compounds react with potassium permanganate to give corresponding
alcohol?

Propane
2-Methylpropane
Ethane
Cyclohexane

[

e

Options:

1908896721. 1
1908896722. 2
1908896723. 3
1908896724. 4

Question Number : 56 Question Id : 1908891697 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fofag At & o Fi7 o 3ife Ml guhee @ st 5 gEfta
VeHIgd &l g

1. 9

Options :

1908896721. 1
1908896722. 2
1908896723. 3

1908896724. 4

Question Number : 57 Question Id : 1908891698 Question Type : MCQ Option Shuffling : No Is
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The dihedral angle between the hydroxyl groups of the most stable conformation in ethylene
glycol 1s:

00
60°
120°
180°

[ e A e

Options:

1908896725. 1
1908896726. 2
1908896727. 3

1908896728. 4

Question Number : 57 Question Id : 1908891698 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TRl TSIl & Ha® FUTS HRAU A FESFH FHE F a1 H giaad H07 E

O‘.‘l
60°
120°
180°

[ N T e

Options:

1908896725. 1
1908896726. 2
1908896727.3

1908896728. 4

Question Number : 58 Question Id : 1908891699 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Distillation can be used for:

A. Separation of volatile Liquid from non-volatile impurity having sufficient difference in their
boiling point.

B. Separation of volatile liquid from non-volatile impurity having not much difference in their
boiling point.

C. Determine the boiling point of liquid organic compound.

Choose the correct answer from the options given below:

Aand B only
A only

3. Aand Conly
4. Band C only

Fd

Options:

1908896729. 1
1908896730. 2
1908896731.3

1908896732. 4

Question Number : 58 Question Id : 1908891699 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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HTHSS FT 9097 a1 1 FFATE

A Frousfier & 1 sErenh| Ffedt ¥ e w7 F v e FmEew § @
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B, a9l gat  srarowehier wfedt ¥ e 7 ¥ v SEE FuEe # w2y
HT A &

C. e A & Foua & fuior &

A1 o v e 7 ¥ 9 3w T

l. %aa AHT B
2. FETA

CFET AR C
4, FFTIBHAT C

-

L)

Options:

1908896729. 1
1908896730. 2
1908896731.3

1908896732. 4

Question Number : 59 Question Id : 1908891700 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Select the correct option for the state of hybridization of carbon 1n the given compound:

Cl

1-5p ! ii-sp?: iii-spl
i-Sp”: 1i-Sp ; 1i1-Sp
i-&pi: 1-5p7: 111-5p
1-5P " 11=5p: 111-5p

bt i
(] (]

ot
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Options :

1908896733. 1
1908896734. 2
1908896735. 3
1908896736. 4

Question Number : 59 Question Id : 1908891700 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

w ot 3iffs & Fea F 0T F O wEr Feew # ge

H (i)
OHGC——C——CN
(n )

Cl
1 i-i.-pi: ii--ap?: i-sp”

i-sp”: 11-5p°: 111-5p
T e

ii-sp’; iii-sp

11-sp”: 111-5p°

Jai k0
&
o o
-I-IJII.I‘

Options:

1908896733. 1
1908896734. 2
1908896735. 3

1908896736. 4

Question Number : 60 Question Id : 1908891701 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The statement which is TRUE for RNA 1s:

a-D-Ribose 1s the sugar unit present in RNA
Thymine is present as one of the base m RNA
RNA are of two types. mRNA and tRNA only
RNA can form double helix structures by folding

bd =

e s

Options:

1908896737. 1
1908896738. 2
1908896739. 3
1908896740. 4

Question Number : 60 Question Id : 1908891701 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
RNA F T H&r Fua I -

1. RNA ¥ ¢-D TSaIT oR1T S5 39T §
RNA # 39T8d a0 UF &7 ¢l
3. RNA f3h 2@ ussr & 81d 8. mRNA FHIT (RNA

4. RNA T & ZINT &I gloiey T{IATT JeT ThdT g |

[ o]

Options:

1908896737. 1
1908896738. 2
1908896739. 3
1908896740. 4

Question Number : 61 Question Id : 1908891702 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Amylopectin 1s a branched chain polymer of a-D-glucose having:

1. C1-C4 and C1-C2 gylcosidic linkage only
2. C1-C6 gylcosidic linkage only

C1-C4 and C1-C6 gylcosidic linkage only
C1-C2 and C1-C6 glycosidic linkage only

Ao

Options :

1908896741. 1
1908896742. 2
1908896743. 3
1908896744. 4

Question Number : 61 Question Id : 1908891702 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

THTgANTEA TF o-D- TIA F1 T MWT 4T agors ¢ Gwd _ 3ufewq g
g

1. &9 C1-C4 HIT C1-C2 TREHITEET a9
. &I C1-C6 ToNSHIFZET Fe7

. I C1-C4 HT C1-C6 TomEHI=S Y
4. %I C1-C2 AT C1-C6 TTEFITES T4

[ ]

Laa

Options:

1908896741. 1
1908896742. 2
1908896743. 3

1908896744. 4

Question Number : 62 Question Id : 1908891703 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements. one 15 labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Bromobenzene reacts with sodium methoxide at room temperature to give anisole.
Reason R: Sodium methoxide is a base.

In light of the above statements. choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
3. A s correct but R 1s not correct

4. A s not correct but R 1s correct

o ek

Options:

1908896745. 1
1908896746. 2
1908896747. 3

1908896748. 4

Question Number : 62 Question Id : 1908891703 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A1 g Fua foU 7 € v F FfEwya (A) 3R g8 F FROT (R) FaT AT £

HIFYT (A): TR FAL F O9 W QETT AUEES U AT 5
UG ¢t £

FNUT (R) : WITSTH HUFAES TF &N 2|
34FT FUA! F e # faeifea FEedt # § 78 3o I

(A #R (R T E AR R). (A)F T @

(A) 3R (R) 34T TEN § T (R). (A) FT Fer e 7 £
. (A) T & W] (R) WA A

(A TE T T (R) T B

Options:

=N (5% [ o
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1908896745. 1
1908896746. 2
1908896747. 3

1908896748. 4

Question Number : 63 Question Id : 1908891704 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following compounds 1s least acidic?

CH,OH

/—\

Options :

1908896749. 1
1908896750. 2
1908896751. 3

1908896752. 4

Question Number : 63 Question Id : 1908891704 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

s o s gag F7 =T T 2

CH,0H

W
<
&

et

| ]

OH

C

1908896749. 1

Options:

1908896750. 2
1908896751. 3

1908896752. 4

Question Number : 64 Question Id : 1908891705 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following haloalkanes reacts with aqueous KOH most easily?

AL

Cl

/\,)\

Br

i

-

4.
Options :
1908896753. 1
1908896754. 2
1908896755. 3

1908896756. 4

Question Number : 64 Question Id : 1908891705 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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FrAoTET gailehal § ¥ Fid T golilesrad Jolld KOHF T FI¥ 0= &
iR F0Em 0

MCI

3

AA

Options:

/\/(fl\
Br

4. A

1908896753. 1

1908896754. 2

1908896755. 3

1908896756. 4

Question Number : 65 Question Id : 1908891706 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Select the incorrect reaction:

Cl CN

b~ KCN
1. || -

P

Cl CN
2.

Cl NC
3. e

AgCN gy

a. \]/ I [

Cl NC

Options:

1908896757. 1
1908896758. 2
1908896759. 3

1908896760. 4

Question Number : 65 Question Id : 1908891706 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T HTHFRAT T T

Cl CN
KCN

Cl CN
KCN

s

Cl NC
AgCN

) Y AgCN -

Cl

Y
=~ -
O b3

Options:

1908896757. 1
1908896758. 2
1908896759. 3

1908896760. 4

Question Number : 66 Question Id : 1908891707 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Select the incorrect statement for photochemical smog:

1. It occurs in dry and sunny climate

2. Ttis also known as oxidizing smog

3. Tt 1s mainly consist of unsaturated hydrocarbons and oxides of mitrogen

4. Tt 1s mainly consist of saturated hydrocarbons and sulphur dioxide
Options:

1908896761. 1

1908896762. 2
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1908896763. 3

1908896764. 4

Question Number : 66 Question Id : 1908891707 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

vl TEETEF 47 & fOU 38T Fua 7 94

(-

. TF L U9 YIRAT Foarg # A £

. W JfEEERE g7 o FEa £

. TE YHE ¥ ¥ FEIA FESHeal 3N A # HEEEs & 2
: mmmﬁmgﬁﬂ'ﬂﬁmww SEAFUES T a1 2|

| o]

L)

o

Options:

1908896761. 1
1908896762. 2
1908896763. 3

1908896764. 4

Question Number : 67 Question Id : 1908891708 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Consider the following compounds:

)

DR

C. NH;
D. CHgCHzNHg

Choose the correct options for the decreasing order basicity of above cmpounds

1. C=D>B>A
2. C>D=A>B
3. A>B>D=C
4. C=B>D=A
Options:

1908896765. 1
1908896766. 2
1908896767. 3

1908896768. 4

Question Number : 67 Question Id : 1908891708 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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frafafaa At &
i

A, NH
i)

e
-

C. NH;

D. CH3CH,NH,

FR feu 71T Tt F R aRwar & ged FF F G FFeT # g

@ W g
0

oG-
o L X

ra sl
o T,

Options:

1908896765. 1
1908896766. 2
1908896767. 3

1908896768. 4

Question Number : 68 Question Id : 1908891709 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not exist as mixed oxides?

1. Co30y
2. FeiOy4
Mnz; Oy
Cri0y

I

Options:
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1908896769. 1
1908896770. 2
1908896771. 3

1908896772. 4

Question Number : 68 Question Id : 1908891709 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Traeeg § 9 59 U s smsarss s e /81 £ 0

1. Co3z0y
2. Fez04
3. 1'1“11130_1
4, CI‘3D4
Options:

1908896769. 1
1908896770. 2
1908896771. 3

1908896772. 4

Question Number : 69 Question Id : 1908891710 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statements for electrolytic cell for the extraction of aluminium 1s
incorrect?

1. The reaction takes place at cathode
AP (melt) +3¢” > Al (s)
The reaction takes place at anode
C (s) + O (melt) & CO (g) + 2¢"
3. The reaction takes place at anode
C (s) +20% (melf) > CO, () + 4¢
4. Purified ALOj 1s mixed with NasAlFg or CaF5 to obtain aluminium

[ ]

Options:
1908896773. 1
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1908896774. 2
1908896775. 3
1908896776. 4

Question Number : 69 Question Id : 1908891710 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

famafof@a & & #ia & Fua tfEfams & v # degasmee & F P
W A

. FurE it watE 3 AP (melt) +3e” — Al (s)

. UAE Fr 1A T0(5)+ 0" (melt) — CO(g) +2¢

. TAE Fr #ARFT § € (5)+ 207 (melt) — COy (g) + 4e”

. TfAfTH urea F & O 9E ALO; T NasAlF I CaF, § AT #37 &

[—

-

N

Options:

1908896773. 1
1908896774. 2
1908896775. 3

1908896776. 4

Question Number : 70 Question Id : 1908891711 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which one of the following statements related to graphite 1s mcorrect?

1. Layers are held by van der waal forces
2. Each layer 1s composed of 11011-9131131' hexagonal rings of carbon atoms

3. Each carbon atom undergoes sp” hybridisation
4. Graphite 15 used as a dry lubricant at high temperature
Options :

1908896777. 1

1908896778. 2
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1908896779. 3

1908896780. 4

Question Number : 70 Question Id : 1908891711 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

IPET ¥ HATAT WEATEd H § FiF ® FUS FET §

. 9Td FETETS T EIART 3T T 2
Te% A Fad WAH F HAATNT TeH0T Foat § T4 £
. e FEd A sp’ HHRT @i &l

. IIFIFT FT 3TANT 327 a9 W L Foigeh H TF Fa1 Jar &

ot

| )

(%]

iy

Options:

1908896777. 1
1908896778. 2
1908896779. 3

1908896780. 4

Question Number : 71 Question Id : 1908891712 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements.
Statement I: The sulphates of the alkaline earth metals are white solids except BaSO,.
Statement II: Beryllium carbonate 1s unstable. therefore. it 15 kept in CO» atmosphere,

In light of the above statements. choose the most appropriate answer from the options given
below

Both Statement I and Statement IT are correct
Both Statement I and Statement IT are incorrect
Statement I 1s correct but Statement IT 1s incorrect
Statement I 1s incorrect but Statement II 1s correct

[ R

P L

Options:
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1908896781. 1
1908896782. 2
1908896783. 3

1908896784. 4

Question Number : 71 Question Id : 1908891712 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT 3 FuT ffT v §

FUF - 1: BaSOs T BISH &TF T UTGHT % Hohe Fhe & &l

FUF - II: BeCO; 37EATE EIT §. SHTOIT SHFR CO, ITEI0T H @S £

ITFS FUAT F HAOF A FEAa@d Feed F ¥ TEr I I ¢

1. FIT 1A 0 TEr &l

FU [AT WA T9T

FUA 182 8. e Fu=7 11300 2
. FYA 1970d ¢ Fheg FU7 M HET

b2

Lad

I

Options :

1908896781. 1
1908896782. 2
1908896783. 3
1908896784. 4

Question Number : 72 Question Id : 1908891713 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Grven below are two statements. one 1s labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Ice can hold some molecules of its appropriate interstitial size.
Reason R: Hydrogen bonding gives ice an open type structure.

In light of the above statements. choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 15 NOT the correct explanation of A
A 15 correct but R 1s not correct

A is not correct but R 15 correct

e Lo 2 =

Options:

1908896785. 1
1908896786. 2
1908896787. 3

1908896788. 4

Question Number : 72 Question Id : 1908891713 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A & FUF 6T 7T § : UF T AfFFUT (A) IR GE FT FROTR) FaT T4 £
FEFYT (A): T 9 FAHEN FFR F T A F T35 T ¢

FIUT (R) : FBEAA HGY & FROT a6 H T Goll TITAT 9o Frar &

IFT FUAT F HeAF # AR FHedl & ¥ TE 3ol o

[

. (A) 3T (R) AT TEr E HT (R). (A) FT TEr T 2

(4) 3R (R) A WE § TReg (R). (A) FT FET < g 2
. (A) W § =T (R) TET A B

. (A) e AT § =] (R) W B

Options:

= L% | -]

1908896785. 1
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1908896786. 2
1908896787. 3
1908896788. 4

Question Number : 73 Question Id : 1908891714 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Grven below are two statements

Statement I: Total metals comprise more than seventy eight percent of the known elements in
the modern periodic table.

Statement II: Total non-metals comprise less than twenty in number in the moderm periodic
table.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement I are correct
Both Statement I and Statement IT are incorrect
Statement I 1s correct but Statement II 15 incorrect
Statement I 1s incorrect but Statement I 1s correct

bt —

e

Options:

1908896789. 1
1908896790. 2
1908896791. 3

1908896792. 4

Question Number : 73 Question Id : 1908891714 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A e Fud Gr aw §

FUF - 1. el e TRON F Fo G dedl # 78% e ¥ 3O eng
A

FUF - 11 JYfF Haa FROT & e @ F gEw @ of F:4 8
39FT YA & HAF H raroldd hedt # § T el g

1. FuF 13 na=r w8
FuF 1HT 1=t T )
U 1 Hel ¢, e FUA 117100 £
FUF 17700 ¢. heq FuwT THET B

[

Lol

Options:

1908896789. 1
1908896790. 2
1908896791. 3
1908896792. 4

Question Number : 74 Question Id : 1908891715 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Arrange them in order of mereasing energies of the orbitals

An=%31=2

Dn=41=0

Choose the correct answer from the options given below

1. A<B<D<C
2. A<D<B<C
3. D<A<B<C
4. D<A<C<B
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Options :

1908896793. 1
1908896794. 2
1908896795. 3
1908896796. 4

Question Number : 74 Question Id : 1908891715 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

foae Ferr T FAT F J9F FH H TIEIT FL
A.n=31=2
B.n=4.1=1
C.n=5.1=0
D.n=4.1=0

A o or et & & 98 3o 94

1. A<B<D<C

2. AEPDER=EC

3. D<A<B<C

4. D<A<C<B
Options:

1908896793. 1
1908896794. 2
1908896795. 3

1908896796. 4

Question Number : 75 Question Id : 1908891716 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List I with List IT

List] List IT
Column I Column II
A. Number of radial nodes for the 3p orbitals 1.0

B. Molecule BFj; is of trigonal planar geometry having dipole moment  |II. 9

C. Total number of orbitals associated with 3™ shell MI. 2

D. The number of angular nodes for 4d orbitals IV. 1

Choose the correct answer from the options given below:

A-ILB-ILC-IL.D-1IV
A-MLB-LC-IV.D-II
A-TV.B-LC-ILD-III
A-IV.B-ILC-LD-III

b

s

Options:

1908896797. 1
1908896798. 2
1908896799. 3

1908896800. 4

Question Number : 75 Question Id : 1908891716 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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HET -1 HET -ILF AT AT F

g -1 g -1
TAH-1 TAA-11
A.Sp%’&iﬁﬁﬁ?&?ﬂ%’i’ﬁm 10

B. BF; A% HTE0T aTet (Rt wdcen sanfafa #1 & 119
C.3"Frer ¥ WS Fof F&ThI T HEAT I0I. 2
D. 4d FafHl # FIOF A H FE&AT V. 1

A T 71v Fwest & @ wér 3ew gfav

A-ILB-UOLC-LD-IV
A-MMLB-I.C-IV.D-1II
A-IV.B-1L.C-II.D-III
A-IV.B-I.C-1.D-III

bd

™

Options:

1908896797. 1
1908896798. 2
1908896799. 3

1908896800. 4

Question Number : 76 Question Id : 1908891717 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements

Statement I: In group 14. a significant increase i covalent radis 15 observed from carbon to
silicon and thereafter. a small increase in covalent radius 1s observed from silicon to
germanium.

Statement IT: A considerable difference in the values of electronegativity from silicon to lead 15
observed.

In light of the above statements. choose the meost apprepriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement IT 1s incorrect
Statement I 1s incorrect but Statement IT 15 correct

[ R =

o

Options:

1908896801. 1
1908896802. 2
1908896803. 3
1908896804. 4

Question Number : 76 Question Id : 1908891717 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908896801. 1
1908896802. 2
1908896803. 3

1908896804. 4

Question Number : 77 Question Id : 1908891718 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Grven below are two statements. one 15 labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A:  Color of KMnQy disappears when oxalic acid 1s added to 1ts solution 1n acidic
medium.

Reason R: KMnOy 1s strong oxidising agent,

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R 15 the correct explanation of A
Both A and R are correct but R is NOT the correct explanation of A
A is correct but R 1s not correct

A 1s not correct but R 15 correct

b

Ll
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Options :

1908896805. 1
1908896806. 2
1908896807. 3
1908896808. 4

Question Number : 77 Question Id : 1908891718 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 2 9 foT 7T §  vF Y AT (A) 3N gE FOFNO(R) FET T

HIAFIF (A): F9 KMnO, F H¥Folg AICTR H HFUOF HF 3009 £ af KMoO, T
T a9 & T 2

FROT (R) : KMnO, T FHIHRF £

I FUA F AT A et e # 8 W 3o 9

[a—

(A AR (R)EET TE § AT (R). (A) Fr TEr T g

(A) ¥R (R) 3T T & T (R). (A) FT T S A F
(AT T (R)TE A

Q)T T € g R)FE B

wd

e taa

Options:

1908896805. 1
1908896806. 2
1908896807. 3
1908896808. 4

Question Number : 78 Question Id : 1908891719 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following statements are correct -

A. BCl; exists as monomer whereas AlCl; 1s dimerised through halogen bridging.
B. The linear shape of COs is due to 51:13 hybridisation of the carbon.

C. Graphite 1s shippery and hard therefore used as dry lubricant in machines.

D. Suspension of slaked lime mn water is known as milk of lime.

E. Ionic hydrides are very good conductors of electricity in solid state.

Choose the correct answer from the options given below:

1. AandB only
2. Aand D only
3. AandE only
4. D and C only

Options:

19088968009. 1
1908896810. 2
1908896811. 3

1908896812. 4

Question Number : 78 Question Id : 1908891719 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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. HFT AR D
. FFA ANRE
4, FFA DA C
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Lz

Options:

1908896809. 1
1908896810. 2
1908896811. 3

1908896812. 4

Question Number : 79 Question Id : 1908891720 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Grven below are two statements. one 15 labelled as Assertion A and the other 15 labelled as
Reason R

Assertion A: Hypophosphorous acid 1s a good reducing agent and reduces AgNO; to metallic
silver.

Reason R: Oxoacids of phosphorous contain atleast one P=0 bond and one P-OH bond.

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
3. A s correct but R 1s not correct

4. A s not correct but R 1s correct

b —

Options:

1908896813. 1
1908896814. 2
1908896815. 3

1908896816. 4

Question Number : 79 Question Id : 1908891720 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 2 Fua T AT § o F AT (A) 3T ZE PN (R) T A

HIEFUF (A) : FTEIHIEDNE TF =0T FTEOEF ¢ AT ANO; Ft uifcas Feaw &
HIITOT T & £

FNUT(R) : FIEPRT & AFWHFA H F7 ¥ FH UF P=0 JFY AR T P-OH A=Y
R

3T FUA F Ao # fAwteg e & ¥ W e I

. (A) 3T (R) T TE & HT (R). (A) Fr TEr =TE £

. (A) #T (R) 3N WEr E T (R). (A) FT FET T A
- (AT T (R) W A €

. (A)WEr 7§ WG (R)TE £

= faa [ ] o
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Options :

1908896813. 1
1908896814. 2
1908896815. 3
1908896816. 4

Question Number : 80 Question Id : 1908891721 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one is labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Sulphur dioxide decolorises acidified potassium permanganate solution.
Reason R: Sulphur dioxide (moist) behaves as a reducing agent,

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A is correct but R 15 not correct

A is not correct but R s correct

[

TS P

Options:

1908896817. 1
1908896818. 2
1908896819. 3
1908896820. 4

Question Number : 80 Question Id : 1908891721 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A @ Fud QU v € © 0 F AfFFEE (A) 3R GE FFROT (R) F W

HAFUF (A) : GoBT TEHFHET HFeT NETH GETAE o F T F &
gl

FROT(R) : FohT SEHFAEE (AH) TF HTIIF H TE TN+ £

IYIFT FU! & A & fawied et # § 8 3o I

(A IR (R I T E AR (R).(A)F T e g

- (AR (R) T T E TG (R). (4) F TG S A
i

i

[e—

[

L)

A) W § g (R) WE AL 2
A)FET @ € =] (R) W 2

Options:

e

1908896817. 1
1908896818. 2
1908896819. 3

1908896820. 4

Question Number : 81 Question Id : 1908891722 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Grven below are two statements. one 1s labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Fluorine exhibits -1. +1. +3. +5 and +7 oxidation states.
Reason R: Halogens except fluorine have d-orbitals thus can expend their octets.

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R 15 the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 15 correct but R is not correct

A is not correct but R is correct

B N S

Options:
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1908896821. 1
1908896822. 2
1908896823. 3

1908896824. 4

Question Number : 81 Question Id : 1908891722 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A1 & U feT 0 ¢ ;v F HEFAA (A) N G F FWOR) F M £

HIEFUF (A): TG -1, +1, +3, +5 T +7 F U0 FTEAT @ £

FOT(R) : Tl FT SIEF T gl & 7 d- F8F 20 § d#T 399 3eF #
EaiE #7394 £

IIFT HUAT F el & feiweAihd fehodt # ¥ W@l 3eoW I

Pa—

(A ER R T E H#R R). (A)Fr T g
(M) HR (R EA WE E T (R). (A) FT WE e A
- (A)WEr § g (R) W A

- (A)WE 7§ T (R) T B

= s | S

Options :

1908896821. 1
1908896822. 2
1908896823. 3

1908896824. 4

Question Number : 82 Question Id : 1908891723 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Identify the correct pair from the following —

[Mn['_CN]ﬁa] - Inner orbital complex involving cl f:.p hybridisation
. [Mn(CD]” - Outer orbital complex involving d f:.p ln bridisation

: [CalC 304}3] - Inner orbital complex mnvolvi g sp 34 hybridisation
. [CoFg] " - Inner orbital complex involving sp s hybridisation

I..J b

o

Options:

1908896825. 1
1908896826. 2
1908896827. 3
1908896828. 4

Question Number : 82 Question Id : 1908891723 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fAeofed # & w81 geAr i 9g=+7 F{

|—|.

. [Mn(CN)e]” - HTAREF FeT Tl AT d'sp’ FHIOT
[Mn(Cl)s]* - ITET F&TF ?FIW TAUT d’sp® THTOT

. [Co(C ;.um - {ANT FeTF L TUTsp'd” HHIT
. [CoFe]” - HTAF FeTsh "ol AT sp’d” HHIOT

| )

4= La

Options:

1908896825. 1
1908896826. 2
1908896827. 3

1908896828. 4

Question Number : 83 Question Id : 1908891724 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List I with List II

List I List IT
‘A. Lanthanide which shows +4 oxidation state I. Yb
B. Lanthanide which has 4f'* electronic configuration in +3 oxidation state [II. Ce
C. Lanthanide which shows +2 oxidation state I1I. Nd

D. Maximum paramagnetism V. Lu

Choose the correct answer from the options given below:

1. A-ILB-IV.C-1L.D-1III

2. A-IILB-IV.C-IILD-I

3. A-IV.B-1L.C-ILD-II

4 A-ILB-IV.C-ILD-I
Options:

1908896829. 1
1908896830. 2
1908896831. 3

1908896832. 4

Question Number : 83 Question Id : 1908891724 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T g F e gafee A
'ﬂiﬁ' =1 '\‘:L_tﬁ' i

[,

i
A, FTAATSS +4 FTFHEIFIOT HITAT F1 E@mar gl I Yb

B. AUATET TNTFT+3 TN TE I A soreTEw

i ¥ 1L Ce

C. oIATEE ST +2 AFERIT HIE EEEr g 1. Nd
D. 33T FEEFT IV. Lu

A< T 71T Fwedt & ¥ ¥Er 3e% giAw

A-IILB-IV.C-1.D-1III
A-TIML.B-IV.C-II.D-1I
A-IV.B-LC-II,D-III
A-ILB-IV.C-IIIL.D-1I

b

e ke

Options :

1908896829. 1
1908896830. 2
1908896831. 3
1908896832. 4

Question Number : 84 Question Id : 1908891725 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following statements related to group 18 is incorrect?

XeF4and XeFs are colorless crystalline solids
No true compounds of Ar, Ne or He are known
They have more positive electron gain enthalpy
XeOj3 15 a colored explosive solid

du L bd -

Options:
1908896833. 1

1908896834. 2
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1908896835. 3

1908896836. 4

Question Number : 84 Question Id : 1908891725 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I 18 ¥ Hafug Featai@a # ¥ Fi9 37 Fa49 a9 22

1. XeFy 3T XeFs TE FrEead 3 g

2. Ar.Ne 3T He F F15 Ireafa+ IR+ AT J80 &1
3. TAPI ToEETT ATy U=IeHT FcATaF: UaATcHF &)
4. Xe0:T# T Arwes 3T Z

Options:

1908896833. 1
1908896834. 2
1908896835. 3

1908896836. 4

Question Number : 85 Question Id : 1908891726 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The entropy change 15 -600 J K 'mol™ at 300K for the given reaction.
4 Fe (s) + 302 (g) — 2Fe20s3 (s)

Total entropy change of the reaction is ...... s

(Given: .-j.rI-IE} for the reaction 1s -1800 x 107 J 111@1'1]I

54 kJ mol™

54 kT K 'mol™!
5.4 kJ mol ™

54 kI K mol™

e

[ P

Options:
1908896837. 1

1908896838. 2
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1908896839. 3

1908896840. 4

Question Number : 85 Question Id : 1908891726 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
&r 5 FATRAT F AT 300 K AT W vt 9iE@aeT - 600 T K 'mol ' §

4 Fe (s) +30; (g) — 2Fe205 (s)

(fear arar & - wfATRAT & T AH® -1800x 10° T mol ™ B1)

54 kT mol ™

54 kT K 'mol ™
5.4 kJ mol”

5.4 kJ K mol™

| B ]

L

Options:

1908896837. 1
1908896838. 2
1908896839. 3

1908896840. 4

Question Number : 86 Question Id : 1908891727 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The charge on 1 mole of electrons 1s

1. 1.6 x 107" C mol™
2. 6.02 %107 C mol™
96500 C mol™
9650 C mol™

sl

Options :

1908896841. 1
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1908896842. 2
1908896843. 3

1908896844. 4

Question Number : 86 Question Id : 1908891727 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T AT Sordeld 97 HT3l gar 2 ¢

1.6 x 107 € mol™
6.02 x 107 C mol™
96500 C mol™
9650 C mol™

a0 o b

-

Options :

1908896841. 1
1908896842. 2
1908896843. 3

1908896844. 4

Question Number : 87 Question Id : 1908891728 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The standard electrode potential and standard Gibb’s energy value are, 1.1 V and
~212.27 kImol respectively. The correct reaction is

X(5)+Y (aqQ) — X (aqQ)+ Y (s)

X(s)+ Y (aq) = X" (aq) + Y (s)
X()+ Y (ag) = X (aq) + Y (s)
X (s)+ ¥ (aq) — X“[ﬂq} +Y (s)

FER R e

Options:

1908896845. 1
1908896846. 2
1908896847. 3
1908896848. 4
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Question Number : 87 Question Id : 1908891728 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e AF soFes e 3T fes 797 F A F/0 1.1V AT 212.27 kImol* Y AT
e AR E 0

kX Yrtaqj X‘(an Y (s)

2. X(5)+Y (aqg) — "{ laq}+&(s

3. X(s)+ Y-”raq“; » X (aq) + Y (s)

4. X(s)+ Y (ag) » X*(aq) + Y (5)
Options:

1908896845. 1
1908896846. 2
1908896847. 3

1908896848. 4

Question Number : 88 Question Id : 1908891729 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is the correct order for the flocculation power of negative and positive
sols, respectively?

[Fe(CN)s]" > POs™ >80 > I and qu Ba’ > Na’
: Ali‘::»Ba >Na" and [Fe(CN)s]* > POs* >SO4 > CI
. [Fe(CN)s ]4 < PD4 < S04 < Cl and fw <Na'
A< Ba’ <Na" and [Fe(CN)s ]* < Pop 304 <Cr

_|_~..'!,u o

Options :

1908896849. 1
1908896850. 2
1908896851. 3
1908896852. 4

Question Number : 88 Question Id : 1908891729 Question Type : MCQ Option Shuffling : No Is
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Feof@d # ¥ #17 T FAT: FUAF I UAAF BT H F0 AT F1 @
FH &

. [Fe(CN)s]" > PO »S04* > CI" and AI'™>Ba™> Na”
. AF™>Ba¥™> Na* and [Fe(CN)s 1+ >Pos >S04 > CI
. [Fe(CN)s]* < POs 4* < CI" and A< Ba**<Na”
. AF*<Ba¥<Na" and [Fe(CN)s " < PO, 4> < CI

b —

[ =S ]

Options :

1908896849. 1
1908896850. 2
1908896851. 3
1908896852. 4

Question Number : 89 Question Id : 1908891730 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one 1s the options is correct for the kinetic molecular theory of gases?

Particles of a gas are always in constant and random motion

Collision of gas melecules are melastic

There is a force of attraction between the particle of a gas at ordinary temperature and
pressure

4. Particles of a gas move in only one direction

L b2

Options:

1908896853. 1
1908896854. 2
1908896855. 3

1908896856. 4

Question Number : 89 Question Id : 1908891730 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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et F1 vpErtes e F T Fla @ T @ @

1. 3 F FT TWEER AdF 7T F &S 2

. " F HUHT F FCT TUT FUATET gT 2

3. WHATT J19 UF 219 9T 39 - FUT F FeF AT I g7 2
4. G F FT FIA UF &7 T F THS FT £

| ]

Options:

1908896853. 1
1908896854. 2
1908896855. 3

1908896856. 4

Question Number : 90 Question Id : 1908891731 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which one of the following 1s the type of non-stoichiometric defects?

Frenkel defect
Vacancy defect
Schottky defect
Metal excess defect

LV ]

=

Options:

1908896857. 1
1908896858. 2
1908896859. 3

1908896860. 4

Question Number : 90 Question Id : 1908891731 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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AFAToIT@d H ¥ Fid AALSISRaIART & FT 5T & 7

1. thehet 319

. RfEasr g
IAMEHT 2T
uTq HTOFT g

[ -]

Bow

Options:

1908896857. 1
1908896858. 2
1908896859. 3

1908896860. 4

Question Number : 91 Question Id : 1908891732 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Acidic character of BF; is based on

Arrhenius Concept

Bronsted Lowry Concept
Lewis Concept

Lewis and Arrhenius Concept

Fu L b

Options :

1908896861. 1
1908896862. 2
1908896863. 3
1908896864. 4

Question Number : 91 Question Id : 1908891732 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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BF: T &I pfd _ 9T 3R £

1. ¥feTw =

2. T - AN e

3. oW faEE

4. =8 HR snfaaw faEa

Options:

1908896861. 1
1908896862. 2
1908896863. 3
1908896864. 4

Question Number : 92 Question Id : 1908891733 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

——
For the given reaction, NyOyg(g) ™ 2NOs (g). the total pressure of the reaction at
equilibrium is 10.2 bar and 1nitial pressure 1s 5.5 bar. The value of Kp 15

110.4
80.4
104
130.1

[ N R

Options:

1908896865. 1
1908896866. 2
1908896867. 3

1908896868. 4

Question Number : 92 Question Id : 1908891733 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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&t M2 AFAFATN,04 () ~— 2NO, (g) H. FFAEEAT T Fe 9 10.2 bar AR
URISF T 5.5bargl KpFT AT £

1. 1104
2. 804
3. 104
4. 130.1
Options :

1908896865. 1
1908896866. 2
1908896867. 3
1908896868. 4

Question Number : 93 Question Id : 1908891734 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 1s labelled as Assertion A and the other 15 labelled as
Reason R

Assertion A: The people living at high altitudes or climbers have high concentration of oxygen
in the blood and tissues.

Reason R: At high altitudes, the partial pressure of oxygen 1s less than that of the ground level.

In light of the above statements. choose the most appropriate answer from the options given
below

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
3. Ais correct but R is not correct

4. A s not correct but R 1s correct

b —

Options:

1908896869. 1
1908896870. 2
1908896871. 3

1908896872. 4

Page - 115


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

Question Number : 93 Question Id : 1908891734 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 3 Fu for AT § - e S AfEEEE (A) 3T @ F FNT (R) FET T B

HIAFAUT (A): HF FAE TN TR WIES I AR UF JEH F T 0
FaH H HFHISS HI TigaT AT gar &

FNOT(R) : HOF TS I RN T HFEIST FT i+ 39 T T & 77
g g

3YIFT FAAT & HAF F AFATRd GHed # ¥ Wel Feal I

[

A) 3T (R) I TE AT (R). () Fr T @mE
A)HR (R) 4T T § Req (R). (A) T T e 74 ¢
A)TE & T (R) W AL B

(A) WEI 7T § g (R) T 2

Options:

| ]

L]

(
(
(

o

1908896869. 1
1908896870. 2
1908896871. 3

1908896872. 4

Question Number : 94 Question Id : 1908891735 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X-ray studies show that an element ‘A’ erystallizes in a bee unit with cell edge of 3.0 x 107 em.
In a separate experiment, element ‘A’ 1s determined to have a density of 4 g/em’. The atomic
mass of element A’ 1

324u
3.24u
16.2u
324u

b —t

e a2
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Options :

1908896873. 1
1908896874. 2
1908896875. 3
1908896876. 4

Question Number : 94 Question Id : 1908891735 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TFY - 0T HegTa a@R 91 e 6 Fecg A 3.0 x 107 em FifSaa 7 FaR &
WY bee Theh FITEH F 7 A fFreelid &1 €1 0F g F a0 # dccd A'H
Uecd 4 glom’ AT 3T 77| A F7 WAIVSS Zeq70T £

324u
3.24u
16.2u
324u

o A S ]

Options:

1908896873. 1
1908896874. 2
1908896875. 3
1908896876. 4

Question Number : 95 Question Id : 1908891736 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Select the correct graph for Boyle’s Law

]
A 2
Z
'J
=
Velume (dm®)
E .,
B. 5|
5 \\\
Ty
\\
Volume {dm?)
B\
v 5
C S g
% .
= g
= -
x‘\-\""—\-\_.._\_

w)
Pressure (har)

Volume (dm)

Choose the correct answer from the options given below:

1. Conly

C and D only

| ]

(%]

A only

g

B and C only

Options:

1908896877. 1
1908896878. 2
1908896879. 3

1908896880. 4

[ ) GETITON ‘
i\ Google Play
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Question Number : 95 Question Id : 1908891736 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Fiaa F TFaE F BT g@Er o F7T 939 F:I

A B
Voluma (dm®)
£
B.
é \
Volume {(dm™)
b
— [}
g \
.| ™%
L ‘x\\
= S
volume (dm?)
./JHIH- "
= -
= P
D. 3 7
‘:‘ 7

volume (dm?)

Ar BT 9T Feedr ¥ § "l 3ca? g
1. a1 C

*FId CHAT D

3. I A

4. *ao BT C

b

Options:
1908896877. 1

1908896878. 2
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1908896879. 3

1908896880. 4

Question Number : 96 Question Id : 1908891737 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match Reactions with their Unit

Reaction Unit
A, Zero order L mol’L
B. First order IT. mol L5

C. Second order 11 e

Choose the correct answer from the options given below:

A-LB-II.C-1I
A-I.B-IILC-1III
A-ILB-IIIC-1I
A-II.B-1.C-III

Fad bt bt

-

Options :

1908896881. 1
1908896882. 2
1908896883. 3
1908896884. 4

Question Number : 96 Question Id : 1908891737 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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HTATRTT F7 37T SFE F 1T Fe=T FL0

wfwfra 5H1S
AT FIfe I. mol'L s™
B. JUH Fife I1. mol L'ts™
C. gfadT Fife . <!

A fgT v R{Fent # & v 3eaw gMAT

A-ILLB-II.C-1I
A-ILB-ILC-III
A-II.B-IOILC-I
A-IILB-LC-III

bt

ol

Options :

1908896881. 1
1908896882. 2
1908896883. 3
1908896884. 4

Question Number : 97 Question Id : 1908891738 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match Crystal system with Axial angles

Crystal system Axial angles

A. Cubic 1. a=p=90", y=120"
B. Trigonal II. a=p=y=90"

C. Hexagonal I1. oPy90"
D. Triclinic IV. 0=p=y=90"

Choose the correct answer from the options given below:

A-II.B-IV.C-III. D -1
A-IV.B-II.C-L.D-1III
A-II.B-IV.C-1.D-1III
A-IIILB-IV.C-1.D-1I

R R

Options:

Page - 121


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

1908896885. 1
1908896886. 2
1908896887. 3

1908896888. 4

Question Number : 97 Question Id : 1908891738 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FefrT FIom F Ty TFred qumer FT FeE F:Y

e @ et ot

A T L. a=p=90, y=120°
B. F=iofr I o=p=y=90"

C. SgHIvi M. apey290°
DRECLIE IV. a=p=y=90"

A for o et 7 ¥ @wEr 3o ghAv

A-IILB-IV.C-III.D-1
A-IV.B-II.C-1LD-III
A-IILB-IV.C-L.D-III
A-NII.B-IVN.C-L.D-1II

I o

Options:

1908896885. 1
1908896886. 2
1908896887. 3
1908896888. 4

Question Number : 98 Question Id : 1908891739 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List I with List IT

ListI List II

A.AH=¢q L Pexi=0

B. Free expansion  [II. Heat

C. Path function [IL. At constant pressure

D. Reversible IV. Infinitely slow process which proceeds through a series of equilibrium
process states

Choose the correct answer from the options given below:

A-LB-M.C-IL.D-IV
A-LB-ILC-NILD-IV
3. A-ML.B-1.C-IV.D-II
4 A-NML.B-LC-ILD-IV

b

Options:

1908896889. 1
1908896890. 2
1908896891. 3

1908896892. 4

Question Number : 98 Question Id : 1908891739 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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=T IS - gR{oT A
T -1 gl -11

[ (29

A.AH=gq I Pui=0
B. {Fd TEIOT 1L FSAT

C. 9 Fald 111, T2T 2=

D.3HANE V. 3dHeA A & fF F2T Fgaeamst
EETS =T 2l

A T ov Rfeat & & 581 3o g

A-LB-IMI.C-IILD-IV
A-ILLB-II.C-III.D-1IV
A-III.B-1.C-IV.D-1II
A-MB-IL,C-IILD-IV

b

50

Options:

1908896889. 1
1908896890. 2
1908896891. 3
1908896892. 4

Question Number : 99 Question Id : 1908891740 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match Terms with Symbols

Term Symbol
A. Resistance Ik

B. Specific resistance II.R

C. Conductance III. p
D. Specific conductance [IV. G

Choose the correct answer from the options given below:

A-IILB-NI.C-IV,D-1
A-ILB-IV.C-IID-III
A-II.B-LC-IV.D-1III
A-IILB-LC-IIILD-IV

b

o

Options:

1908896893. 1
1908896894. 2
1908896895. 3

1908896896. 4

Question Number : 99 Question Id : 1908891740 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Jaleh & T rear 71 el +7

A EGIEY
A. 9feRm I«
B. fafrse gfaqmy LR
C. ATeThea . P
D. fafirse ameweT IV. G

A= for av sFedt & ¥ WET 3o gfAT

1. A-IILB-MII.C-IV.D-1I

2. A-LB-IV.C-II.D-III

3. A-IILB-LC-IV.D-III

4, A-II.B-LC-III.D-IV
Options:

1908896893. 1
1908896894. 2
1908896895. 3

1908896896. 4

Question Number : 100 Question Id : 1908891741 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The unit of coefficient of viscosity in CGS and SI units, are respectively

poise and Pa.s
poise and Pa.s
centipoise and Pa.s
centipoise and Pas’

e o b

Options:

1908896897. 1
1908896898. 2
1908896899. 3

1908896900. 4
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Question Number : 100 Question Id : 1908891741 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

QITAAT [T HTFHIE CGS AR SITRTT F FHT: &

. tﬁgi? 3T Pas?

: tﬁgﬁ? AT Pas

: ?ﬁﬁfﬁEETEﬂT Pa.s

: ﬂﬂﬁqﬁﬁﬂ AT Pas?!

Options :

o faa [ et

1908896897. 1
1908896898. 2
1908896899. 3
1908896900. 4

Part C Mathematics

SectionId: 19088947
Section Number : 3

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 19088973
Question Shuffling Allowed : Yes
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Question Number : 101 Question Id : 1908891742 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let n(U) = 700,n(A) = 200, n(B) = 300 and n(4n B) = 100 then n(A' N B')is

400
600
300
200

b

e

Options:

1908896901. 1
1908896902. 2
1908896903. 3

1908896904. 4

Question Number : 101 Question Id : 1908891742 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT mﬁv ﬁ; ”[U) = 700, fl(.""l) = 200, N[B\) = 300 dU n(ANB)= 10’3%'
g M(A'N B’)% :

400
600
300
200

e a0 b

Options:

1908896901. 1
1908896902. 2
1908896903. 3

1908896904. 4

Question Number : 102 Question Id : 1908891743 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
10" =107

The inverse of the function f (x)= . - 15
10* + 107

1+-x
1. 10g10 (l — x)

li (1 + x)
E 5 08910 "
3. 10g,0(1+ X)

, (1 + x)
4. —lo
910 T

Options:

1908896905. 1
1908896906. 2
1908896907. 3

1908896908. 4

Question Number : 102 Question Id : 1908891743 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
10 = 10"

W f(x) = To o T S ¢

l+x)

1 —x
1 +:-e;)

1

=3 (
i) O
3. log(1—x)

1+3
4. _mﬂm(l — t‘)

1. logiq (

|

Options :
1908896905. 1
1908896906. 2

Page - 129


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

1908896907. 3

1908896908. 4

Question Number : 103 Question Id : 1908891744 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let R be the relation on the set R of all real numbers defined by aRb if |f! = b| < 1 ThenRis

1. Reflexive and Symmetric
2. Symmetric only
3. Transitive only
4. Symmetric and Transitive only
Options:
19088969009. 1
1908896910. 2
1908896911. 3

1908896912. 4

Question Number : 103 Question Id : 1908891744 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A Ao & R Al HEAnst & #ead W aR b ggrr oRenfia wew €.
set la-bl < 1% qart:

et

. Taded 3R wAAd
. Fad ARG

. &ad TFHF
4. gAAT AR TFHAS Fad

[ ]

L]

Options :
1908896909. 1
1908896910. 2

1908896911. 3
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1908896912. 4

Question Number : 104 Question Id : 1908891745 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The total number of solutions of the equation 1650 4 16605°% = 10in x € [0,2m] is
equal to

e L g e
— o0 O

0
Options :
1908896913. 1
1908896914. 2
1908896915. 3

1908896916. 4

Question Number : 104 Question Id : 1908891745 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X € [0.27] & wairamor 1657°% 4 16505 = 10 % Foll 1 o TG WK §

|
L o= L A

g e

Options:

1908896913. 1
1908896914. 2
1908896915. 3

1908896916. 4
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Question Number : 105 Question Id : 1908891746 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

V1i+Cosx+y1—-Cosx

F
If e ey et Cot (ﬂ + E) and x € (m, Zn)_ then A 1s equal to

m
1. —
4
m
Wit T
6
L
8
T
A
2
Options:

1908896917. 1
1908896918. 2
1908896919. 3

1908896920. 4

Question Number : 105 Question Id : 1908891746 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

v 1+CG.5‘JL'+\-"-1—COS'.Y
:E||a V1+Cosx—v1-Cosx

= Cot (ﬂ‘*‘%)g (_‘R]TI = (_H-ZH_] E'Fr‘r;ﬂ'{'lﬁ'{' ?‘- :

[ ]

-
N SHW | S0 S S

Options:
1908896917. 1
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1908896918. 2
1908896919. 3

1908896920. 4

Question Number : 106 Question Id : 1908891747 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
-1 ‘-.-E

The value of Sin [2 Cos e 1s

5

D o)
ol

!“-4

:E-‘*w|-
Al

i
o< o
o]

Options:

1908896921. 1
1908896922. 2
1908896923. 3

1908896924. 4

Question Number : 106 Question Id : 1908891747 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Page - 133


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

Sin [2 Cos'lu'?]a?r S

=
s |

Options:

1908896921. 1
1908896922. 2
1908896923. 3
1908896924. 4

Question Number : 107 Question Id : 1908891748 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

f(o) = Cos x Sin «
(o —Sin®  €os ) andit % BV are angles of a triangle, then

F(@).FB)-FF) equats

I

_12

0

Sin « Cos .1,

L bl

i

Options:

1908896925. 1
1908896926. 2
1908896927. 3

1908896928. 4
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Question Number : 107 Question Id : 1908891748 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Cos x Sin «

uﬁ;ftm: [—Sinoc Cosot]% aar qﬁ“-ﬁ-}’wﬁﬂp$aﬁw%
4 F ). FB)-F) aara & -

I-.J'i_—=
|

e

J

A

Sin o Cos .1,

Options:

1908896925. 1
1908896926. 2
1908896927. 3
1908896928. 4

Question Number : 108 Question Id : 1908891749 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the system of Linear equations
x+2ay+az=0,x+3by+bz=0and x+4cy +cz =

solution, then

0 has a non-zero

1 2b=a+tc

b? = ac

3 @+2b+2c=0
20c¢

4 at+c

[

Options:

1908896929. 1
1908896930. 2
1908896931. 3
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1908896932. 4

Question Number : 108 Question Id : 1908891749 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o s gt x+2ay+az=0x+3by+bz=0 ik ttacy+cz=0 & oygor
H T LN gl .l

L 2b=a+cg

3 bE= ac )

3. a+2b+2c=0y
2ac

:a+cm

o

Options:

1908896929. 1
1908896930. 2
1908896931. 3

1908896932. 4

Question Number : 109 Question Id : 1908891750 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

rxr=L: x=1
3 | e __
X _l’l}l,thenatl_l.fis

F0={

Given

Continuous and differentiable
Continuous and not differentiable
Differentiable but not continuous
Neither continuous nor differentiable

| S

B

Options:
1908896933. 1

1908896934. 2
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1908896935. 3

1908896936. 4

Question Number : 109 Question Id : 1908891750 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=15 =1

f(.'t’}={l_3_ Lx>1lgd g rX=1gw/fg:

1. §dd 3R FaFeeird

2. Hdd. W FaFeid F760

3. aFAT. W Fd g

4. &7 dr @ad iR AT & JaFaerT

Options:

1908896933. 1
1908896934. 2
1908896935. 3
1908896936. 4

Question Number : 110 Question Id : 1908891751 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of *a’ so that f (U = §inx — Cosx —ax +b decreases for all real values of X 15
given by

L GE\E
(1{\,5
az=1

a<l

]

[ =S W)

Options:

1908896937. 1
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1908896938. 2
1908896939. 3
1908896940. 4

Question Number : 110 Question Id : 1908891751 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘2’ T 9g AR 588 & ol aeafes A=t &
fare f(x) = Sinx — Cosx — ax + b gy ¢, Sfaif@a qanr foan o &

2, @<V2

3 az21

g a<l
Options:

1908896937. 1
1908896938. 2
1908896939. 3
1908896940. 4

Question Number : 111 Question Id : 1908891752 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If Jﬂ\l) = Iogx(lﬂg.r) then JF(X) at ¥ = € ig

Sl
O =W = ®

Options:

1908896941. 1
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1908896942. 2
1908896943. 3
1908896944. 4

Question Number : 111 Question Id : 1908891752 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

afy f(x)=log,(logx)y rx=eqe f'(N) 3 .

i @
2. €
. ol |
4. 0
Options:

1908896941. 1
1908896942. 2
1908896943. 3

1908896944. 4

Question Number : 112 Question Id : 1908891753 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of ,’{__ so that the sum of squares of the roots of the equation

x°—A+Dx—-2A+2=0

. assume the least value 1s

b A
2. 2
3. -1
4., -2
Options:

1908896945. 1

1908896946. 2
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1908896947. 3

1908896948. 4

Question Number : 112 Question Id : 1908891753 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Aar a5 7w, e wmwor ¢~ (A4 DY =2+ 2= 0% o & aoit a7 ar
TIATH Al TEVT FAl g, foltfol i@ &

1

4

-1

7

|

B w

Options:

1908896945, 1
1908896946. 2
1908896947. 3

1908896948. 4

Question Number : 113 Question Id : 1908891754 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- -

X

St==1@>1)

- -

and ¥ TV T C cutat right angles, then

If a*
, a®+b*=2c?
, DP=a*=2c"
g, A5 =b* =2¢F
; 0% =2¢?
Options:

1908896949. 1
1908896950. 2

1908896951. 3
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1908896952. 4

Question Number : 113 Question Id : 1908891754 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

> -

X ¥

aﬁF'l'“b—l:-l({I}b)mxz_}.zch YOr W e &

| a®+b* =2y
). bP—at =2c%y
3, a*—b* =2c*y
g, @b* =2

Options :

1908896949. 1
1908896950. 2
1908896951. 3

1908896952. 4

Question Number : 114 Question Id : 1908891755 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Sin x

= | ——dx 1
Sinx —Cosx Sl

x 3

l. ———=log|Sinx —Cos x|+
2 2
1‘ 1

2. —+—log|Sinx —Cosx|+c
2 2
_1' 1

3. —+—log|Sinx +Cosx|+c
2 2
x 1

4. ———log|Sinx +Cos x|+
2 2

Options:
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1908896953. 1
1908896954. 2
1908896955. 3

1908896956. 4

Question Number : 114 Question Id : 1908891755 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Sin x
I = J-S;in x—Ensde g‘ .

x 1

1. ——=log|Sinx —Cos x|+ C
2 2
x. 1 _

2. =+ =log|lSinx —Cos x|+
2" 2
x 1 _

3. E+ Emngmx +Cosx|+rc
x 1 _

4. ———log|Sinx + Cos x|+ c
2

Options :

1908896953. 1
1908896954. 2
1908896955. 3

1908896956. 4

Question Number : 115 Question Id : 1908891756 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Ly
fﬂ “|Sinx — Cos x|dx .

The mtegral * is equal to

1. 2V2
, 262-1)
3. 2(vV2+ 1)
4. \,{E +1
Options:
1908896957. 1
1908896958. 2
1908896959. 3

1908896960. 4

Question Number : 115 Question Id : 1908891756 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

m/
I
2

Wfo |Sin x — Cos x|dx _—

[

S Y
- 3
~
) e
+ o
=
S’

Options:

1908896957. 1
1908896958. 2
1908896959. 3

1908896960. 4

Question Number : 116 Question Id : 1908891757 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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2

. 5 o e
The area in the first quadrant between XTFY =" pa Yy =Snx

3 —8

sq.units

RE

2. — gg.units
4 q

ms — 16 _
3. 3 sq.units

e —8

$q.units

Options:

1908896961. 1
1908896962. 2
1908896963. 3
1908896964. 4

Question Number : 116 Question Id : 1908891757 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X2+ Y =M gy = Sin X & dra wopw aqeie ¥ s ¥

3-8

f, 4 g ZHES
3

2. 4 oot @
3 — 16

3. 4 T =S
n®—8

4. 2 gz

Options:

1908896961. 1
1908896962. 2
1908896963. 3
1908896964. 4
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Question Number : 117 Question Id : 1908891758 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A normal at any point (% ¥) to the curve ¥ = F1¥) cuts triangle of unit area with the axes. The
equation of the curve is

s o fdy\% dy
e (*l) =42

dx dx
242 d'VJr ”(dy)z Zd'r
% Iy —Lyt—) =2—
“idx T Mix dx
i q(d}?)z dy
3, x*—y|—) =—
© \dx dx
- @y
4, X+y—=y
w dl_ e
Options:

1908896965. 1
1908896966. 2
1908896967. 3

1908896968. 4

Question Number : 117 Question Id : 1908891758 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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]

et foig V) w g Y = () @ o arfdrera x- 37 & oy g el
P3feT ahrea &1 e, @ $ FHEr §

1. y?—yx? (ﬂ)z . 4ﬂ

dx dx
524 dy ,,(dv)z 2d1-'
2. x*+2y—+y*(—) =2—
2 AT dx
’ q(ﬂ’}’)z dy
. X V—=grl—] =—
© \dx dx
dy
4. X+y—=y
" dx
Options:

1908896965. 1
1908896966. 2
1908896967. 3
1908896968. 4

Question Number : 118 Question Id : 1908891759 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

. dy .
The solution of — + 2ytanx = sinx _ 1s
dx

1. ysec®x =sec’x+c
2. ysecix =secx +c¢
3. ysinx = tanx + ¢
4. ysinx = sec®x + ¢
Options:
19088969609. 1
1908896970. 2
1908896971. 3

1908896972. 4
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Question Number : 118 Question Id : 1908891759 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

dy ,
& + 2vtanx = Sinx
de © FTEA &

y sec®x = sec’x + ¢
y sec?x = secx +c¢

[
.

<
; Yy Ssinx = tanx + ¢
4 Y Ssinx =sec*x+c
Options :

1908896969. 1
1908896970. 2
1908896971. 3

1908896972. 4

Question Number : 119 Question Id : 1908891760 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- =4 ey
A unit vector which is coplanar to the vector @ = [ + j+ 2k and b = [ + 2j + k and

i - . b i
perpendicular to the vector € =1+ j+ k is

—

=]

L:

E
(%)

2_ —_—

-—H—k

Sl

-

Options:
1908896973. 1
1908896974. 2
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1908896975. 3

1908896976. 4

Question Number : 119 Question Id : 1908891760 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o A wfeer o & = 147+ 2K g b= 14+ 2]+ Ky i & o
=itk ag ¢ AfaRa b

Options:

1908896973. 1
1908896974. 2
1908896975. 3
1908896976. 4

Question Number : 120 Question Id : 1908891761 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The triangle formed by the points A(0.7.10), B(-1.6.6) and C(-4.9.6) 1s

1. Equilateral

2. Isosceles but not right angled
3. Right angled but not Isosceles
. Right angled Isosceles

e

Options:
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1908896977. 1
1908896978. 2
1908896979. 3

1908896980. 4

Question Number : 120 Question Id : 1908891761 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

faig3it A(0.7.10). B(-1.6.6) 3 C(-4.9.6) & &1 FXS glem & :

1. WHETE
. GHAFIOIT HAGIATE

=Y L] [ ]

Options:

1908896977. 1
1908896978. 2
1908896979. 3

1908896980. 4

Question Number : 121 Question Id : 1908891762 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let the line 2 -3
15

x-1 y+2 z-3
4

lie in the plane X ~ Y +az+b=0 Ty yalye of D~ @

| o

b
i | L2 2, =
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Options :
1908896981. 1
1908896982. 2
1908896983. 3
1908896984. 4

Question Number : 121 Question Id : 1908891762 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT R 2 -
@b aamam i

x-1 y+2 2-3
4

W.i—jwﬂzﬁ-b:oﬁf@aﬁg;

bt

ek
e =

Options:

1908896981. 1
1908896982. 2
1908896983. 3
1908896984. 4

Question Number : 122 Question Id : 1908891763 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The equation of a plane passing through the line of mtersection of the planes x+2y+3z2=2

&

and ¥ — ¥ + 2= 3 454 4t distance VZ from the pomnt (3,1-1)1s

Ihevaluenfﬂ +b+c+d 15

ax+by+cz+d=0

11
-11
i B2

3
4, 22

bt

Options:

1908896985. 1
1908896986. 2
1908896987. 3
1908896988. 4

Question Number : 122 Question Id : 1908891763 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
WA X 2) 32 =2 3w ¥~V 2= 34y feddy - Y & @ A A e

fig g.L-na gl VA wAae &7 g X by +cz+d =0y

11
-11

17

e Lad D

.22

Options:

1908896985. 1
1908896986. 2
1908896987. 3
1908896988. 4

Question Number : 123 Question Id : 1908891764 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
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\

Correct Marks : 4 Wrong Marks : 1

3 | =

. Then which of the

For any two events A and B, P(A) = P(A|B) =i and P(B|A) =

following 1s NOT correct?

1. P(A|B) =

2. P(B[A) =

Options :

1908896989. 1
1908896990. 2
1908896991. 3

1908896992. 4

Question Number : 123 Question Id : 1908891764 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(A) = P(A[B) =

A= | =

g4
Rt o) weat A 3K B% BT P(BIA) =3

fwfaf@a # 4 i w781 & 0

3R gl da.

1. P(A|B) =

[ ]

P(BJA) =

oD | = | W

3. P(AUB)

I

O | = | W

4. P(ANB) =

Options:

1908896989. 1
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1908896990. 2
1908896991. 3
1908896992. 4

Question Number : 124 Question Id : 1908891765 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A and B are two independent witnesses in a case (1e. there 1s no collision between them). The
1 3

probability that A will speak the truth 15 3 and the probability that B will speak the truth is 4.
A and B agree 1n a certain statement, The probability that the statement 1s true 1

2

1. ==
5

3

2 =
5

4

3_ o
5

1

.
5
Options:

1908896993. 1
1908896994. 2
1908896995. 3
1908896996. 4

Question Number : 124 Question Id : 1908891765 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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forelr amwer (FRufe) . A 3R BaY Tad AT & (3R 399 F1$ Felowra @
1 3

)| A TT aioe $ WG 2 ¥ T B T al $r e 4 ¥ AR v
AYT # A AR BUEHT gl 39 YT & T g I WS ¢

| ]

njle=on| un| won| o

Options:

1908896993. 1
1908896994. 2
1908896995. 3

1908896996. 4

Question Number : 125 Question Id : 1908891766 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The mummum value of

z=05x—17y . subject to the constraints
X+y=72x-3y+6=20x=20y=0 ioenvy
1. 2
2. -10
3. -13
4. -14
Options:

1908896997. 1
1908896998. 2

1908896999. 3

Page - 154


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

1908897000. 4

Question Number : 125 Question Id : 1908891766 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Jaut X +y<72x-3y+620x20,y20§ 3@ Zz=5% -7y ;/
FATH A §

2

-10

-13

-14

e L b

Options :

1908896997. 1
1908896998. 2
1908896999. 3

1908897000. 4

Question Number : 126 Question Id : 1908891767 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

sNEN 720 4 938=3 Jn—1

, then 15 always divisible by

b
dam Lo g =
oL L

L

=

Options:

1908897001. 1
1908897002. 2
1908897003. 3

1908897004. 4
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Question Number : 126 Question Id : 1908891767 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

aﬁrlEN%_.Fﬁ?zit_+_23n—3.3r:—lﬂ_aa_ﬁ ﬁﬁ mﬁ = %_:

L R
fag b —

oL L Lh

=
e

Options:

1908897001. 1
1908897002. 2
1908897003. 3
1908897004. 4

Question Number : 127 Question Id : 1908891768 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If z satisfies the equation |z| — z = 1 + 2, then z is equal to

3
1. —+ 21
2
3 .
2. —— 2
2
3 .
- S
2
3.
4. 24 =1
2

Options :

1908897005. 1
1908897006. 2
1908897007. 3

1908897008. 4
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Question Number : 127 Question Id : 1908891768 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

afg z walor 12l — 2 = 1+ 2y Fqse @ar &, a1 2 s &

l. —4dl
2

3 .

& ==l
2

3.

¥ A——1

2

3,

4, 24—

2
Options:

1908897005. 1
1908897006. 2
1908897007. 3

1908897008. 4

Question Number : 128 Question Id : 1908891769 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Out of 7 consonants and 4 vowels, the number of words (with or without meaning) that can
be made, each consisting of 3 consonants and 2 vowels, is

24800
25100
25200
25400

|

et

Options:

19088970009. 1
1908897010. 2
1908897011.3

1908897012. 4
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Question Number : 128 Question Id : 1908891769 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

75T 3R 4TI A FAT S Tohed arel TF Meat 7 FE&ar (378 ar e 37y
arel). T 3 eaee 3T 2 T aiFAfed g, Amafetad g

24800
25100
25200
25400

b —

)

Options:

19088970009. 1
1908897010. 2
1908897011.3
1908897012. 4

Question Number : 129 Question Id : 1908891770 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of seven digit itegers, with sum of the digits equal to 10 and formed by using
the digits 1,2 and 3 only. 15

55
66

Ll

88

|

:l_ut.._.u

Options:

1908897013. 1
1908897014. 2
1908897015. 3

1908897016. 4
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Question Number : 129 Question Id : 1908891770 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A1 37T aTell CHr ST HEAsT 1w e S 1 AT 10 g R e
3T 1,2 3R 3 F & IuEer AT g eeied §

55
06

ol

88

[ e

ol

Options:

1908897013. 1
1908897014. 2
1908897015. 3

1908897016. 4

Question Number : 130 Question Id : 1908891771 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. AP
! X +—=
The coefficient of the term mdependent of i the expansion of VX" isequalto
1. 10
2. 252
3. 20
4. 256
Options:

1908897017. 1
1908897018. 2
1908897019. 3

1908897020. 4

Question Number : 130 Question Id : 1908891771 Question Type : MCQ Option Shuffling : No
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Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

10
2 |
Vx/ & JER # x ¥ TAT UE F IONF T §

10
252
20
256

bl

B ow

Options:

1908897017. 1
1908897018. 2
1908897019. 3

1908897020. 4

Question Number : 131 Question Id : 1908891772 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— 10
: : . . 2 +310) .
The sum of the rational terms in the expansion of [w et ) 15

L, 32
2. 41
3. 9

4. 50

Options:

1908897021. 1
1908897022. 2
1908897023. 3

1908897024. 4

Question Number : 131 Question Id : 1908891772 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

(V2 + ¥10) " . -
Vety ¥ gaR #F IRAT ggF FT AT ¥

1. 32
2. 41
3. 9
4. 50
Options:

1908897021. 1
1908897022. 2
1908897023. 3

1908897024. 4

Question Number : 132 Question Id : 1908891773 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

H|JL' Jx=1| and |x+1

equal fo

are first three terms of an A P__ then the sum of its first 100 terms 1s

2000
1500
3000
2500

bl bt

= ]

Options :

1908897025. 1
1908897026. 2
1908897027. 3

1908897028. 4

Question Number : 132 Question Id : 1908891773 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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gfer =1 g Ix+ U Gy 4 p. & worr i ve & & 389 wo7 10092t &7 T
T E

2000
1500
3000
2500

e ki

ol

Options:

1908897025. 1
1908897026. 2
1908897027. 3

1908897028. 4

Question Number : 133 Question Id : 1908891774 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The mcenter of the triangle with vertices A(0,0), B(2.0) and C( ]..__'\.'IE )15

2 1
2 5@
3 v3
(133
3. ' 7
(2 \.,'rg)
* A3 2
Options :

1908897029. 1
1908897030. 2
1908897031. 3
1908897032. 4

Question Number : 133 Question Id : 1908891774 Question Type : MCQ Option Shuffling : No
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Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ofrsf A(0.0). B(2.0) 3R C(1. V3 ) arer BT &7 3 &g § -

_,.-r"'_'-‘--.‘
[
-
N|m"l
o

[§
—
W N
{'|+4
w
e —

faa

Options:

19088970209. 1
1908897030. 2
1908897031. 3

1908897032. 4

Question Number : 134 Question Id : 1908891775 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The eccentricity of the hyperbola passing through (3.0) and (3 V2, 2) and having 1t’s axes along
the coordinate axes 1s

o

- s -
L Cad el

-
fa—
a2

i

* ‘

Options:

1908897033. 1
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1908897034. 2
1908897035. 3

1908897036. 4

Question Number : 134 Question Id : 1908891775 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(3.0) 3R (3v2.2) § avame ot amr e s et & Frafeer 3w arer

HfawaeT &7 Ihedr & ¢

V13
3

V1

L2

-l
- -
~@~|ge
(¥8 ] (8]

Options:

1908897033. 1
1908897034. 2
1908897035. 3

1908897036. 4

Question Number : 135 Question Id : 1908891776 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Yz, . 1; — 20

The standard deviation of ™ observations X1 1 Xp is 2. If &=i=1 and

¥ =100

, then Mis
10 or 20

5o0r10

5o0r20

50rl5

b

S

Options:

1908897037. 1
1908897038. 2
1908897039. 3

1908897040. 4

Question Number : 135 Question Id : 1908891776 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

n 9&Ton X1 X2 Xn g A e 281 3 =1 %1 = Zoﬁgﬂﬂil.ff = 100
g.al oS g

1. 1031 20
2. 591 10
|
4, 59115
Options:
1908897037. 1
1908897038. 2
1908897039. 3

1908897040. 4

Question Number : 136 Question Id : 1908891777 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1

1
"3 n occur at frequencies 12,3, ™ in a distribution, then the mean is given

1,
If the value

by

I.\J1:—-

— ——
-—.r||'_"r-.|

(]

Options:

1908897041. 1
1908897042. 2
1908897043. 3
1908897044. 4

Question Number : 136 Question Id : 1908891777 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 1 1
Ife el gea & A Loy ' n GREEAT FAT: 1.23..0F TY M E L.ar
SHH ALY §
L1
2om
1
i
n
2
g, —
1
Options:

1908897041. 1
1908897042. 2
1908897043. 3

1908897044. 4
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Question Number : 137 Question Id : 1908891778 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If g [.«,p v MQ) 1s false_ then the truth values of P and 9 are respectively,

v
o
— =

Options:

1908897045. 1
1908897046. 2
1908897047. 3
1908897048. 4

Question Number : 137 Question Id : 1908891778 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g P~ (“PV~Q) ey & ar P 3k 9% Ay A wAT §

P
g e
— = o

Options:

1908897045. 1
1908897046. 2
1908897047. 3

1908897048. 4

Question Number : 138 Question Id : 1908891779 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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\

-
=

Complete solution set of

[ < 1 is given by

x—1

1 (=o0,1) U (1,0)

3 —1—+/5 —1 ++/5]

- - 2 ' 2 L
—1—+5 —1 +/5]

3, el lu. o)
| 2 2 ]
—1+/5

. _‘*_1)

2
Options:

1908897049. 1
1908897050. 2
1908897051. 3
1908897052. 4

Question Number : 138 Question Id : 1908891779 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x<

< 1 %1 TYUT g8 FH==T feafoi@d ganr fear mar ¢

x=1

[=)

 (=00,1) U (1, )
’—1 V5 =1+ @]

[ -]

2 : 2
3. e \,-'E -1+ '.,"E
2 ! 2

-1 + =
" i,l)
2

Options :

U (1,00)

1908897049. 1
1908897050. 2

1908897051. 3
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1908897052. 4

Question Number : 139 Question Id : 1908891780 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The least velocity with which a ericket ball may be thrown 80 m horizontally is

1. 28m/s
2. 35m/s
0.8 m's
4, 71l m/s

L]

Options:

1908897053. 1
1908897054. 2
1908897055. 3
1908897056. 4

Question Number : 139 Question Id : 1908891780 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

memﬁwmﬁm S{]ln@ﬁﬁﬁﬂmmﬁ
frfafaa &

1. 28m/s
2. 3Bmwmls
3. 98m/s
4, T1m/s
Options :

1908897053. 1
1908897054. 2
1908897055. 3

1908897056. 4
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Question Number : 140 Question Id : 1908891781 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The resultant of two forces acting on a particle 1s at right angles to one of them and its
magnitude 15 one third of the magnitude of the other. The ratio of the larger force to the
smaller one 1s

i 3242
s 82
3:2
g 43

Options :
1908897057. 1
1908897058. 2

1908897059. 3

1908897060. 4

Question Number : 140 Question Id : 1908891781 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frdt Fur W FRRG & gar F IR 99 A0 F UF 99 W 9 § AT SHH
URHATT 3T T & GRAT 0 - foETS E| 93 I F OB I F I £

3:2v2
3v3:2
32
4:3

[a—

= L] [ ]

Options:

1908897057. 1
1908897058. 2
1908897059. 3

1908897060. 4
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Question Number : 141 Question Id : 1908891782 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 15 labelled as Assertion A and the other 1s labelled as
Reason R

x*—x+1

1
-< <3
3

Assertion A: If *be a real number, then x2+x41

(—': n) sec” @+tand
2 "2

Reason R: If 7 be a real number lymng between then sec” 8—tan & does not lie between

1

3 and 3

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 15 correct but R 1s not correct

A is not correct but R is correct

e L Bl

Options:

1908897061. 1
1908897062. 2
1908897063. 3

1908897064. 4

Question Number : 141 Question Id : 1908891782 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A g Y U v § ;. 0F F 3WEYT (A) IR W FROT (R) FT T g

| X2 -x+1

FRFGT (A): IR < T aafeE w@w LA +H1{3%'|

( T T) sec” f+tan

FROT(R) : AR O 3eren # fea g s 3ﬂT3$é’rﬂﬁsecﬂtan9ﬁfﬁlﬁ

T &l
ST FYl & Ielw A i [@eedl # & TE IR ol

. (4) 3R (R) g4 WY & AR (A) F(R) TET TISEHT £

- (A) 3R (R) S TEE R (A) F (R) TET TR AT 8
. (A)TIE. R (R) AL

. (A) AL W (R) AL

|—|.

t..-

’..Ju

4=

Options :

1908897061. 1
1908897062. 2
1908897063. 3

1908897064. 4

Question Number : 142 Question Id : 1908891783 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements. one 15 labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: If “n denotes the sum of ™ terms of a G.P. whose first term and common ratio are
na ar(1-r")

Sttt tg =————

@ and Trespectivel‘,f, then

na ar(1-r™")
5 +eFotoitiay, 1= - -
e M l-r (1-1)A(1+7)

Reason R:

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A is correct but R 1s not correct

A 15 not correct but R 15 correct

I e

Options:

1908897065. 1
1908897066. 2
1908897067. 3
1908897068. 4

Question Number : 142 Question Id : 1908891783 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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]
A & FU T AT § ;U A HE (4) 3R G A FROT(R) FET A g

IAFYT (4): 3 S TF GP.&F GUH 1 TeT F I97 & Foww vud 9¢ 2 3R ae
r(1-r")
S +8+85 +ts, = -

HeITe 1 g 1-r  @-r)? g

na ar(1-1r™)

I

Sl +33+S‘j + ”'+ S:n_l ‘_ 2 F

STAFT FYAT & HeF A fwfiieh febodt A & FE Iocl ol

(4) 3R (R) 2 @ € 3R (4) FR) T TR
(A) 3R (R) 1T WET §. o] (A) FT (R) TGT TSR T £
(A)

(

[E—

| ]

L]

A) T L. R (R) L
A) A E. T (R) T £

.

Options:

1908897065. 1
1908897066. 2
1908897067. 3

1908897068. 4

Question Number : 143 Question Id : 1908891784 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements. one 1s labelled as Assertion A and the other 1s labelled as
Reason R

pl V2
_+~_—1
4

L ad
¥ty =4 b® where

Assertion A: The circle 15 an auxiliary circle of ellipse

h<2

Reason R: A given circle 1s an auxiliary circle of exactly one ellipse.

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A is correct but R 1s not correct

A 15 not correct but R 15 correct

| =

i

Options :

1908897069. 1
1908897070. 2
1908897071.3
1908897072. 4

Question Number : 143 Question Id : 1908891784 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A &1 FU T 0§ OF F R (A) AR GE FFROT(R) FET A B

X2 2
2 5 — == -
oY (4) : Iect ! ¥ —%ﬂa—fﬂ 4 b2 lwwaﬁgmb{z
gl

FIT(R) : W 2N 3 G O U digedt a1 WeTaF ged 41h ¢
T FUA & e H (At faehed 7 F W 3ok ol

. (A) AR (R) =T T § AR (A) FT (R) TE TISEERT £

(A) R (R) ST T § W] (4) F (R) TET TICEHRT e g
- (A) BT, T (R) 37 ¢

- (A) IR, T (R) T B

e L] ] —_

Options :

1908897069. 1
1908897070. 2
1908897071.3

1908897072. 4

Question Number : 144 Question Id : 1908891785 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Page - 176


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

Match List I with List IT

List I List I
X .
)= L. Re= (1,00
AR Tem £1,%)
o) Ry = (0,0 U[> o)
X)= = | —00, — 00
B.f 2—x2 o 7 2
1
fO)= == | Ry=|-37]
c VX —[x] fm 2 2
(x) . R = l]
X ) = =
D. ! 2 — sin 3x1v. F =13

Choose the correct answer from the options given below:

A-IIILB-I.C-II,D-1IV
A-IIILB-II.C-1.D-1IV
A-II.B-IV.C-1.D-1II
A-II.B-LC-IV.D-III

L b

i

Options:

1908897073. 1
1908897074. 2
1908897075. 3
1908897076. 4

Question Number : 144 Question Id : 1908891785 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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- I
X
X)= Rs,= (1,00
A f( J 1+.'{'2 I i { }
X = - R=—,{]U—,L‘ﬂ)
. f(x) - . ( )
1 i
f) = — re=[->.-]
i vx = [x] m 7 22
()= — ry=[:1]
X)=—— = =,
D. f( 2 —sin 3x V. F~ 13

A QT av Jeedl # & @€ 3eX & ¢

A-IIILLB-LC-ILD-IV
A-TM.B-II.C-L.D-IV
A-IILB-IV.C-1.D-III
A-ILB-LC-IV.D-III

et =

o

Options :

1908897073. 1
1908897074. 2
1908897075. 3
1908897076. 4

Question Number : 145 Question Id : 1908891786 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Page - 178


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

Match List I with List IT

ListI List IT

T/

[ ]
I

f YVi—Cos2xdx | vZ2-1
0

A

/2
f V1 —Sin2x dx .
T f )

B. /4

"2 Sinx — Cos x
c Jo 1+Sinx Cosx '
. fﬂ . )

—_— . 0
p J0 VEX—X* [

Choose the correct answer from the options given below:

A-II.B-II,C-LD-IV
A-II.B-LC-III.D-IV
A-TMB-II,C-LD-IV
A-NM.B-LC-IV.D-1I

| S

e s

Options:

1908897077. 1
1908897078. 2
1908897079. 3

1908897080. 4

Question Number : 145 Question Id : 1908891786 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Tl -1 g -1 & gAfed fifew

T T -
’T_.lr,_._,
J v1— Cos 2x dx N J2—1
Al
.Tr‘l.f_1
J V1 —Sin2x dx 7
rrr,.f_; "
Ty :
2 Sinx —Cos x
f - dx m. V2
c o 1+ Sinx Cosx :
a
—— dx . o

D. Jo Vax — x?

g feT 1T fashedl # @ HEr IoR @

A-ILB-ILC-LD-IV
A-ILB-LC-IIILD-1IV
A-TMB-ILC-LD-IV
A-III.B-1.C-IV.D-1I

e faa b

Options:

1908897077. 1
1908897078. 2
1908897079. 3

1908897080. 4

Question Number : 146 Question Id : 1908891787 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List I with List IT

List I List IT
2 1 Al
lim( = ) ;2
A w1 N1 —X= X =1/
. Vidx+x2—1+x
s BB m 4
. Cos3x+3Cosx
lllr;l_ 05 {I::+ ]gas X E
=+ [ —_—

S T 1. 4
. Sin 2x 1
im —

p. x=0(e* —1).Cosx |rv. 2

Choose the correct answer from the options given below:

A-II.B-ILC-IV.D-1II
A-IIB-IV.C-1.D-1II
A-IV.B-IIILLC-II.D-1I
A-ILB-NMLC-II.D-1IV

| S

Ao

Options:

1908897081. 1
1908897082. 2
1908897083. 3
1908897084. 4

Question Number : 146 Question Id : 1908891787 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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gl -1 - § Al e

Tl -l T -1
2 1
lim ( — ) .2
A x1\l1—x- x-—1
. Vid+x+x2—1+x
lim s II. 4
B x—~0  2x°
' ; Cos 3x+3Cosx 1
_ll—II’TI:,-l'z {——_1‘)3 A
C. 2 1. 4
i Sin 2x 1
im —
p. x=0(e* —1).Cos x v. 2

A QT av R{eedl # & |8 Ica giav

A-II.B-1L.C-IV.D-III
A-II.B-IV.C-1.D-1II
A-IV.B-IIILC-II.D-1I
A-ILB-IOLC-ILD-IV

| S

-

Options :

1908897081. 1
1908897082. 2
1908897083. 3

1908897084. 4

Question Number : 147 Question Id : 1908891788 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Let Aand Bbe any two sets. Which of the following are correct?
s (A-B)NB=0
g (A—B)UB =0
c A—B)NA=AnB
p (A—B)UB=AUB

Choose the correct answer from the options given below

A and D only
A.Cand D only
B and D only
B. C and D only

L b

i

Options:

1908897085. 1
1908897086. 2
1908897087. 3

1908897088. 4

Question Number : 147 Question Id : 1908891788 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A AT B AR B#S o & wed €| e & @ Fi9 @ e 7|
&

A (A-B)NB=0

g (A-B)UB=0

c (A-B)nA=AnP

p (A—B)UB=AUB

A fer v faeet & & FEY 3o o

1. a0 AR D
2. Fad A CHR D
. FdaT BHR D
4, $dA B.CIR D

-

L)

Options:

1908897085. 1
1908897086. 2
1908897087. 3
1908897088. 4

Question Number : 148 Question Id : 1908891789 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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[ GETITON
. '\ Google Play
Which of the following statements are correct?

, . then 2a+b 1s perpendicular to

= N T _ 12
A If 4 and bare two vectors such that |ﬂ + b| i |ﬂ|
b

—

B. For any three vectors a,band ¢

ldl=1,|b|=4|é| =2andd+b +¢=0,thend.b + b.¢ + é.d = -
if

|~

wa

- a3
C. The area of a parallelogram having diagonals [—3]+ 4k and Si-j+2k 15 2
square units

-

D.If a,b,c are three vectors such that rhcnﬂ'b = a.c,axh = axc,a # Othenb =¢
Choose the correet answer from the options given below:

. A.BandD only
Aand D only

B and D only

. Aonly

e o b =

Options:

1908897089. 1
1908897090. 2
1908897091. 3

1908897092. 4

Question Number : 148 Question Id : 1908891789 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T A — 2
ol T premm—— [ ] L N R wpe

B et i aftet . D ot T g oy 41 = L6l =4 =2 4 B+ 2T

a.b+bc+ ca=-

7
ar 2 %l

-
5v3

c. fant L= 3+ 4K g 31—+ 2K oy i T a0 evawer 2 ot s
q

=+

gl

A U v fwedt # 4 Y 3o T

I. %ad A. B3R D
2. Fa@d AR D
3. ad BIR D
4, Fad A

Options:

1908897089. 1
1908897090. 2
1908897091. 3

1908897092. 4

Question Number : 149 Question Id : 1908891790 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following statements are correct?

AEE= 1150 % = =2 Y g, b (%) =2

Zy
i —1
BIz= T then |z]| = V2
CosS=+isin=
3 3
I
C. If the argument of Z — 2 — 31 is Z . then the locus of z 1s a straight line

D. The value of (1 — 5)4 e S iﬁ s 8

Choose the correct answer from the options given below:

B and C only

A and C only
A. B and C only
A.B.Cand D

bt

i

Options:

1908897093. 1
1908897094. 2
1908897095. 3

1908897096. 4

Question Number : 149 Question Id : 1908891790 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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AR AT FRT - T FIT T E °

e g g o L (B222) =2
A Z1=1-li3xrZ = 2+4g a z &l

F—1

s
CDS§+ISIH§

T
c.afg 2 — 2 3l g Fonw Zé,r-ﬁ 2 & fiig 97 UF T @

D.(1-D*+(1+D* & A st
A U T {eedt 7 & @Er 3o g ¢

1. B 3R C
Fad A AR C
Fad A.B3R C
Fad A.B.C3IHR D

oY s | ]

Options:

1908897093. 1
1908897094. 2
1908897095. 3
1908897096. 4

Question Number : 150 Question Id : 1908891791 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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: In x . . :
For the function f(x)= —= . which of the following statements are true?
x

A f (x) has horizontal tangent at ¥ = €
B. f (x) cuts the x-axis only at one point
L. f (x) 15 many-one function

D. f (x }has one vertical tangent

Choose the correct answer from the options given below:

A. B and C only
A and B only
B and C only
A, Cand D only

bt

e

Options:

1908897097. 1
1908897098. 2
1908897099. 3

1908897100. 4

Question Number : 150 Question Id : 1908891791 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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el fx) = 2F & v Sfafld # ¥ # - ¥ YT g ¥ 0

X

A x=e T f(x) & &ifas oo @ &l

B.x - 387 FI f (x) Faol TS & &g T Fedr ¢l

C.f(x) UF TEUF Heled gl
D. f(x) $T T Feanr TIe7 @ g
A faw av Awedt 7 ¥ WE 3oer T

. FaAd A.B3R C
Fad AR B
. Fad B3R C
. Fad A.C3IHR D

L] [ ] ]

I

Options:

1908897097. 1
1908897098. 2
1908897099. 3

1908897100. 4
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